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QAEZ|0} 3177 34,61 35.32 38.19 41.47 41,56 4333 4424 45.85
FHLtCt) 40.82 42.39 4318 4596 47.18 44,54 4579 45,63 45.63
533 40.10 4178 42,64 4264
=] 3275 33.00 3397 35.36 36.83 3875 40.11 41.41 4253
|24 37.68 37.20 37.82 3757 39.11 40,72 3868 40.15 40.15
Bl 7| of 31.10 31.65 33.08 34.19 34.35 35.43 3752 38.88 30.85
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AQA 094 1.02 124 1.39 1.43 131 1.41 1.37 1.39
AQdl 1.46 164 097 165 1.61 151 1.43 1.35 1.36
= 072 073 084 0.80 0.84 093 092 1.02 108
o= 091 087 0.89 092 097 0.88 095 1.01 1.05
mats 075 0.72 085 093 104 096 1.01 094 099
ore= 061 058 0.67 0.75 0.67 0.68 0.76 081 095
diota 059 062 053 052 052 061 0.66 084 092
QAEZ|0} 064 0.72 0.79 0.79 0.76 0.82 0.88 094 091
oAl 065 064 073 082 085 087 090 090
=290 0.44 001 0.55 0.50 0.66 0.79 0.66 0.65 083
SAMCE 038 0.47 0.47 0.45 057 068 0.70 0.69 0.77
EX) 063 0.65 0.70 0.73 0.74 0.78 0.73 0.74 0.74
H7 ol 050 0.55 062 063 061 065 0.64 0.69 0.71
224170} 057 0.41 051 0.52 061 0.66 0.78 1.16 0.70
W 052 0.55 060 061 0.64 073 074 064 068
LTS 037 0.36 0.37 051 059 0.65 067 067
Ell=E= 050 053 052 054 054 056 0.66 0.65
02 0.43 0.36 0.48 0.52 054 054 054 0.56 059
oltz/ot 0.24 034 050 052 0.55 058
ey 074 1.00 1.08 1.34 137 135 0.76 052 058
ES il 0.39 0.41 037 039 037 0.37 0.41 049 056
44 st 035 0.40 037 0.39 0.37 0.38 0.40 0.44 056
0to|&=tE4 0.02 0.10 0.05 0.16 0.07 0.25 0.24 0.56 056
mEIPS 0.48 0.45 0.30 035 0.45 0.40
Uz 030 034 034 0.40 0.42 0.42 043 0.40 039
&712| 0.18 0.15 0.14 0.15 0.22 0.17 0.27 032 023
E7| 007 007 008 0.06 0.08 0.10 0.12 013 0.15
=] 0.03 0.05 0.04 0.04 0.05 0.05 0.06 007 006
Zac 034 029 0.16 0.25 0.17 0.16 0.15 0.00 0.00
g4g23
=L 0.06 0.07 0.08 0.06 0.08 0.09 0.11 0.11
UESE) 0.34 0.35 0.40 048 043 0.49 063
o|lAatd 064 064 063 061 0.64 0.72 0.67 0.72 0.75
S2H{L|o}t 0.60 058 0,64 0.66 0.74 0.80 0.70
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QAEROF 0028|0027 0,028 |0.029|0.029 |0.029 |0.032 00330028 | 19 | 19 |20 | 19| 18| 18| 18|19 | 19
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2 0,010 0.010 | 0.005 | 0,009 | 0.014 | 0,009 | 0.006 | 0.005 [ 0.010 | 27 | 27 | 27 | 25 | 23 | 25 | 26 | 26 | 23
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% At2% : Quacquareli Symonds, QS World University Rankings 2013/14.
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(& 2-27) 2|2 1542 SCI =2 £(STOCK)(EZ3 2

ZZ 1517t SCI =& £(STOCK) =2
= 06 | 07 | 08 | '09 | 10 | 11 | 12 | 13 | 14 06 |°07 |'08|'09|’10 11|12 13 |'14
o= 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1 | 1 | 1 | 1 | 1 [ 1 | 1 | 1|1
A= 0.253]0.256 | 0.259 | 0.262 | 0.264 | 0.266 | 0.268 | 0269|0270 | 2 | 2 | 2 | 2 | 2 |2 |2 | 2| 2
=Y 0.232]0.236 | 0.239 | 0.243 | 0.246 | 0.250 | 0.253 | 0255|0256 | 4 | 4 | 4 | 4 | 4 | 4| 3 | 3| 3
U= 0.247 1 0.251 | 0.254 | 0.255 | 0.255 | 0.254 | 025630250 | 0246 3 | 3 | 3 | 3 | 3 | 3 | 4 | 4| 4
TA 0172101740177 |0.178 | 0.180 [ 0.182 | 0.183 | 0.184 0184 | 5 | 6 | 6 | 6 | 5 | 6 | 6 | 5 | &
FHLtCt 0.133]0.134|0.135|0.137 | 0.139 | 0.141 | 0.143|0.145|0147| 6 | 6 | 6 | 6 | 6 | 6 | 6 | 6| 6
MEEI0 0.109{0.113|0.117{0.121 | 0.125|0.128 | 0.132| 0135|0137 | 7 | 7 | 7 | 7 | 7 |7 | 7 | 7 | 7
ATiQl 0.073]0.077 | 0.082 | 0.086 | 0.091 | 0.096 | 0.100 {0.105|0.110| 9 | 9 | 8 | 8 | 8 |8 |8 | 8| 8
S5 0.075{0.077 | 0.080 | 0.083 | 0.086 | 0.089 | 0.092 | 0.096 |0.099| 8 | 8 | 9 | 9 | 9 | 9|9 | 9|9
ot= 0.038 | 0.044 | 0.050 | 0.055 | 0.061 | 0.068 | 0.075 | 0.081 | 0.088 | 13 | 13 | 13 [ 11 | 11 [ 11 | 11| 10| 10
== 0.069 | 0.070 | 0.072 | 0.073 | 0.074 | 0.076 | 0.078 | 0.079 | 0.081 | 10 | 10 | 10 | 10| 10 | 10 | 10 | 11| 11
AQA 0.048 | 0.049 | 0.051 | 0.052 | 0.053 | 0.054 | 0.056 | 0.057 | 0.059 | 12 | 12 | 12 | 13| 13 | 13 | 13| 12| 12
AQHE 0.053 | 0.054 | 0.055 | 0.055 | 0.056 | 0.056 | 0.057 | 0.057 | 0.057 | 11 | 11 | 11 | 12| 12|12 | 12|13 | 13
= 0.033|0.035 | 0.036 | 0.038 | 0.040 | 0.042 | 0.044 | 0.046 | 0.048 | 15 | 15| 15 | 16| 14 | 14| 14| 14| 14
El7| 0.018]0.021 | 0.024 | 0.028 | 0.031 | 0.035 | 0.039 | 0.043 | 0.046 | 19 | 19| 19 | 17| 16 | 16 | 16 | 16 | 15
EL 0.035|0.036 | 0.037 | 0.038 | 0.040 | 0.041 | 0.042 | 0.043 | 0.044 | 14 | 14| 14 | 14| 15| 15| 16| 15| 16
diot=2 0.027 | 0.027 | 0.028 | 0.028 | 0.029 | 0.029 | 0.030 | 0.031 | 0.031 | 16 | 16 | 16 | 16 | 17 | 17 | 17 | 17 | 17
QAER|O} 0.024 1 0.025 | 0.025 | 0.026 | 0.027 | 0.028 | 0.029 | 0.029 | 0.030 | 18 | 18 | 18 | 18 | 18 | 18 | 18 | 18 | 18
e 0.024 | 0.025 | 0.026 | 0.026 | 0.027 | 0.027 | 0.027 | 0.028 | 0.028 | 17 | 17 | 17 | 19| 19 | 19| 19 | 19 | 19
mEEIES 0.016{0.017 | 0.018 | 0.020 | 0.021 | 0.022 | 0.023 | 0.024 | 0.025 | 21 | 21 | 20 | 20 | 20 | 20 | 20 | 20 | 20
LIDNE 0.015]0.0160.0170.018 | 0.019 | 0.020 | 0.021 | 0.022 | 0.023 | 23 | 22 | 22 | 22 | 22 | 22 | 21 | 21 | 21
L2290 0.01710.0180.0180.019 | 0.020 | 0.020 | 0.021 | 0.022 | 0.023 | 20 | 20 | 21 | 21 | 21 | 21 | 22 | 22 | 22
M2 0.012]0.014|0.015{0.016 | 0.018|0.019 | 0.019|0.020 | 0.021 | 25 | 25 | 24 | 23 | 23 | 23 | 23 | 23 | 23
=gz 0.009|0.010|0.011{0.013|0.014|0.015|0.016|0.018|0.019| 26 | 26 | 26 | 26 | 26 | 25 | 256 | 24 | 24
FARE 0.015]0.015|0.016 {0016 | 0.017{0.017|0.017| 0018|0018 | 22 | 23 | 23 | 24 | 24 | 24 | 24 | 25| 25
otz 0.014]0.014|0.014|0.015|0.015|0.015|0.015| 0015|0015 | 24 | 24 | 25 | 25| 25 | 26 | 26 | 26 | 26
ordcs 0.009 | 0.009 | 0.010 | 0.011|0.011{0.012|0.013|0.013|0.014 | 27 | 27 | 27 | 27 | 27 | 27 | 27 | 27 | 27
S24t7(of 0.006 | 0.006 | 0.006 | 0.007 | 0.007 |0.007 | 0.007 | 0.007 |0.007 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28
ofoj&EIE 0.001 {0.001 | 0.001 | 0,001 | 0.001 | 0.001 | 0.001 | 0.001 |0.001| 29 | 29 | 29 | 29 | 29 | 29 | 29 | 29 | 29
SMEE3 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30
OECD B+ 0.093 | 0.094 | 0.096 | 0.097 | 0.099 | 0.100 | 0.102 | 0.103 | 0.104




(2 2-28) #|2 1542+ SCI =2 £(STOCK)

(9l : B
= 2y 1990~2004 [1991~2005 1992~2006 [1993~2007 1994~2008 [1995~2009 [1996~2010 1997~2011 1998~2012
oj= 3,904,286 | 3,975,102 | 4,047,590 | 4,124,926 | 4,212,152 | 4,300,215 | 4,389,774 | 4,494,060 | 4,608,102
A= 987,986 | 1,017,167 | 1,048,646 | 1,081,160 | 1,114,089 | 1,146,015 | 1,177,106 | 1,211,008 | 1,247,986
=4 908,524 | 938,629 | 970,193 | 1,004,018 | 1,039,031 | 1,075,020 | 1,111,248 | 1,147963 | 1,184,789
Uz 966,723 | 999,001 | 1,028,200 | 1,053,496 | 1,076,734 | 1,095,402 | 1,111,087 | 1,124,493 | 1,136,273
oA 671,870 | 693656 | 715759 | 736,891 | 761489 | 784924 | 807,232 | 829,575 | 851,876
FHLtct 518610 | 532699 | 549016 | 565634 | 585496 | 606,595 | 628604 | 652,608 | 679,768
O|Ez|ot 426909 | 450,360 | 474,469 | 499,717 | 526,577 | 553905 | 580,583 | 607,877 | 637,151
A0l 287,220 | 308822 | 332,176 | 356,834 | 383713 | 412933 | 442922 | 475569 | 509,878
CES 205453 | 309,288 | 325197 | 342722 | 362,766 | 384,260 | 407,086 | 432,869 | 461,672
ot= 150,980 | 175781 | 202576 | 229,762 | 260,923 | 294539 | 330,148 | 368490 | 409,002
Hgzti= 269,150 | 280,208 | 291,879 | 303292 | 315471 | 329,134 | 344,130 | 359,812 | 377,495
AQA 189,350 | 197,760 | 207,094 | 216,356 | 226219 | 236549 | 248011 260569 | 273941
AQdl 208564 | 215388 | 222344 | 229584 | 236619 | 243703 | 250,865 | 258443 | 267316
i 131,658 | 139813 | 149,140 | 159,683 | 172,340 | 184875 | 197,040 | 210,203 | 224,804
=k 72,085 85,346 99,336 1150982 | 133800 | 153,610 | 174096 | 194678 | 216211
#7101 137,358 | 144726 | 152,145 | 160,168 | 169,043 | 177,813 | 187,189 | 197,006 | 207,469
dioi=a 105,625 | 109,934 | 114380 | 118642 | 123419 | 128159 | 133898 | 140,771 148,289
QAEZ|Of 94,344 99,409 104,567 | 109993 | 116,128 | 122,430 | 128920 | 135833 | 142,601
H2te 96,724 100,984 | 105555 | 109,942 | 114419 | 118703 | 123062 | 127,503 | 132,070
WEIES 63,653 69,544 76,132 83,196 90,539 97,997 105,255 | 112273 | 119,303 61
HA|Z 58,497 64,080 69,727 76,094 82,843 89,674 96,279 103,352 | 110,756
L29o] 68,446 71,915 75,874 80,087 84,855 90,072 95,478 101,805 | 108,645 %
H= 49,493 55,334 61,939 69,308 76,983 82,264 88,205 94,183 100,691 ;
n=gz 37,763 42,280 47,976 53412 59,958 67,203 75,042 83,894 93,777 J%Jﬂ
FAHE 59,124 61,820 64,850 68,033 71,601 75,056 79,064 83,410 87,901 %
712 55,112 57,212 59,401 61,670 64,466 67,057 69,227 71,816 74,520 i%
OfUA= 35,473 38,353 41,575 45,101 49,186 53,569 58,488 63,729 68,778 O?j
S24t7|0f 23,249 25,280 27,058 30,304 32,787 33,699 34,637 35,636 36,827 O—\.‘t
Ol0|&&tE 4,267 4565 4,899 5,248 5,695 6,182 6,766 7,334 8,023 E
ECEEE] 1,228 1,369 1,568 1,785 2,089 2,494 2,983 3,600 4,261
A 25,975 27,91 30,072 32,654 35,632 39,170 42,840 47111 51,889
O AEL|OF 6,397 7,170 7,994 8976 9,774 10,629 11,677 12,702 13,773
o|Aztd 134,803 | 138859 | 143387 | 147,601 151,679 | 1565404 | 158933 | 162,614 | 166,159
SEHL|of 15,400 17,517 19,703 22,365 24927 27,422 30,036 32,894 35,763

X AEY  KAIST, SCl =2EMxtz 2014,
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1-3-2 Number of patents in the past 15 years (STOCK)
¢ 22 1557t Dli“Ed (STOCK)
- 2|2 15521 012ES 8 £5{0] 22 126l E5] 42 FA5t Aoz XY
Xtelol =X fEH-HL IIA:L
- O|Z2ESH= 0I=20|A EG1HE dAE 2Xo2 n|ZEGFMTEA(United States Patents and
Trademark Office)oll S23t E5{2 H9
+ MEEs|(Uiity Paten)E 7IZECE il A=0l SS(grant)E 1 5 EH
¢ 22 15E7F M3ES| 4 (STOCK)
- A2 157 ASES] 20 FMXIZ MRS X HEE mof
- =F55|(Triadic patent famiy)= it 67t RBESIE(EPO), Y2EHFUPO), 0=
SHNHEF(USPTOI SE—% Aoz Ho|
+ HE [E S5E0 o =2 7IXIE 7IXH, X21& Fgfut Xi=e] 0|F0| mhe HE0| HMA/0]
E5{of 7|=3t =x| HII'Jf £0|
o LTI HFX|et RUT UXHprioriy date)S 7 IESE =56 5 &Y

52 150708128 D1RSs| o ASSs 40t 1 e Wl ooz 247t

st !

1,337,30671, 200,86771

¢ x2 15
ZiZ 1537¢ *:.*-3:51 L °'E(196,775.7j). S(75,5627) =2 A9 Iﬁ@ =

L

2= 202947192 69

SalLzlo] 22 1532} =X DIRES 4 958607102 49| F 15K2H £ NS

¢ 2 1582 E5 29 BES Al 2fl= 06E 7RI01M 114 5912 X o5

BZES} K= MEAH|) 0.0078 AL 0.086% R 06 01 XIAZFR! ASMof QoH
2 ol X222 OECD Bt &3l XI2(0.082F)2 Hol E2



(& 2-29) =2 1517 E3] =(STOCK)(EZ3} Z)

2|2 152t £5f #(STOCK) =2
= 06 | 07 | 08 | '09 | 10 | 11 | 12 | 13 | 14 06 |°07 |'08|'09|’10 11|12 13 |'14
o= 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1 | 1 | 1 | 1 | 1 [ 1 | 1 | 1|1
Uz 0.635 | 0.638 | 0.644 | 0.654 | 0.659 |0.667 | 0675|0684 (0693 | 2 | 2 |2 |2 |2 |2 |2 |2 |2
=Y 0.255{0.253 | 0.252 | 0.251 | 0.251 | 0.250 | 0.250 | 0.248 | 0247 3 | 3 | 3 | 3 | 3 |3 |3 | 3| 3
oA 0.102{0.100 | 0.098 | 0.097 | 0.096 | 0.095 | 0.095 | 0.094 | 0.093 | 4 | 4 | 4 | 4 | 4 | 4| 4 | 4| 4
etz 0.039 | 0.044 | 0.049 | 0.055 | 0.060 | 0.066 | 0.073 |0.079 {0086 | 7 | 6 | 6 | 6 | 6 | 6 | 6 | 5| 5
A= 0.082{0.081 | 0.080 | 0.079 | 0.078 | 0.077 | 0.076 | 0.076 | 0.075| 5 | 5 | 5 | 5| 5 |5 | 5| 6| 6

HEe 0.039{0.039 | 0.039 | 0.039 | 0.040 | 0.040 | 0.040 | 0.040 | 0040 | 6 | 7 | 7 | 7 | 7 |7 |7 |7 |7

HLtCt 0.036 | 0.037 | 0,037 | 0,038 | 0.038 | 0.039 | 0.039 | 0.040[0040| 9 | 9 | 8 | 8| 8|8 |8 |88
AQA 0,039 {0,038 | 0.037 | 0.036 | 0.036 | 0.035 | 0.035 [0.0350034| 8 | 8 | 9 | 9|99 9|99
AQH 0.033 0,033 | 0,033 | 0,033 | 0.033 | 0,033 0,032 {0,032 [0.031 | 11| 11 [ 11| 11| 10| 10| 10|10 10
olt2lot 0.035 [ 0,035 | 0,034 | 0.033 | 0.033 | 0.032 | 0,032 [ 0.032 [ 0.031 | 10| 10| 10| 10| 11| 11| 11| 11|11
5 00150.015| 0015|0015 |0.015 | 0016 | 0.016 {0,016 [0.016 | 14 | 14 | 14 | 14| 14 | 14 | 14|13 | 12
mgts 0016 |0.016 | 0,016 | 0,016 | 0.016 | 0.016 | 0.016 {0,016 [0.016 | 13| 13 | 13 | 13|13 [ 13| 12|12 | 13
F710f 001700170017 | 0.017 [ 0.016 [ 0.016 | 0.016 | 0.016 | 0.016 | 12 | 12 | 12| 12 | 12 | 12 | 13 | 14| 14

QAEZ|0} 0.012]0.0120.012|0.012 | 0012 |0.012|0.012|0.013|0.013| 15| 15| 16| 15| 16| 15|15 | 15| 15

diot=2 0.010{0.010|0.010{0.010|0.011|0.011|0.011|0.011|0011| 16| 16| 16| 16| 16| 16| 16| 16| 16
ES 0.006 | 0.006 | 0.006 | 0.006 | 0.006 | 0.006 | 0.007 | 0.007 | 0.007 | 17 | 17 | 17 | 17 | 17 | 17 | 17 | 17 | 17 63
=290 0.004 | 0.004 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005| 18 | 18| 18 | 18| 18 | 18 | 18 | 18 | 18
ofUsHE 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.003 | 0.003 | 19 | 19| 19 | 19| 19 | 19| 19 | 19 | 19 X
FAME 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 E
72 0.001{0.001 | 0.001 {0.001 | 0.001 {0.001 | 0.001|0.001|0.001 |21 |21 |21 |21 |21 |21 21|21 |21 %
i 0.000 | 0.000 | 0.000 | 0.000 | 0.000 |0.000 | 0.001 | 0.001 |0.001| 25| 25 |25 |25 | 25|25 |25 |25 |22 ﬂﬂi:
A= 0.000 | 0.000 | 0.000 | 0.000 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 23 #Qill
EREEE] 0.001{0.001 | 0.001 | 0.001 | 0.001 | 0.001|0.001|0.001|0.001 |22 |22|22|22|22|22| 22|22 24 (J)ﬁ
HA|Z 0.001 {0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 23 | 23 | 23 | 23 | 23 | 23 | 23 | 23 | 25 (—)Eé
mEEIES 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 26 | 26 | 26 | 26 | 26 | 26 | 26 | 26 | 26 T'i':

=&z 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 28 | 27 | 27 | 27 | 27 | 27 | 27 | 27 | 27

E{7| 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 29 | 29 | 29 | 29 | 29 | 28 | 28 | 28 | 28

ofoj&EIE 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 27 | 28 | 28 | 28 | 28 | 29 | 29 | 29 | 29

SZHt7|0f 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30

OECD B+ 0.079 | 0.080 | 0.080 | 0.080 | 0.080 | 0.081 | 0.081 | 0.082 | 0.082




= 2

120,000 -
oj= 1.000
S 0.406
=9 [0118
= 2
ZatA | 0.042 100000 | -
FHLtCH | 0.042
= 0041
olgtelob | 0.018
A9lE 0,016
HEaE | o.015 L
ilge 80,000 a0cs
AgA 0,015 .
== |0.013 . 69,297
mzte | 0.009 X
mate 62,032 52599
@70 | 0.007
oAEZOF | 0.006 60,000
Giot3 | 0.005
A0l | 0.004
T 292|0| | 0.003
ofgaE | 0.002
wmsc | 000 40,000
AR | 0.001
k2| | 0001 33,266
H= | 0.000
ZMHEZ2
E4223 | 0.000 o |
=ztc | 0.000
d2|A | 0.000
OFO|ZEtE | 0.000
o -t =@=QECD HT
E{7| | 0.000 = =l
Z=ez | 0.000 .
=24t7|ok | 0.000 & ,§3° ’é? ) ¢ '559 S & &
0.000 0.200 0.400 0.600 0.800 1.000 [,955'L 5 o <V < 09;5'\’ 'ff@ ﬁ@
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(a2 2-34) 27k 22 152 0|2ES 4(STOCK) (T 2-35) =2 1547F O|=2ES] $(STOCK) 0|

= 2
o= 1.000 =000 ¢
=i 0.980
=g 0.376
mata [ 0ass
20,711 20,741
64 [SENETT] 20,369 .
=2 geEm 19,724
il 20,000 49,012 20,592
Hgate | 0.066 ' " 0,294
Aga [ o0ss

Aggl | 0.047
oletz|op | 0.044
FHLict | 0.039
AZ|of [o.024 15,000 |
Zzte | 0.023
= |o.09
QAEE|0} | 0.019
Hop | 0.017
~m®el | 0.010

L=2o] | 0.006 10,000
ofgHc | 0.004
LEMC | 0.003 5,818
=7tz| | 0.002
=ztc | 0.001
=He= 0.001
sarss 5000

M= | 0.001
AR | 0.001
Z=gzb | 0.001
2|2 | 0.001

E7| | 0.000 ——3t2 -E-OrcpHZ
ofol=2tE | 0.000 o
E2ub7i0r | 000 A R A
0.000 0.200 0.400 0.600 0.800 1.000 5955"' 57 & & o oﬁ,ﬁq’ " O?;{L
’ ’ ’ ) ’ ) A A - - - A

(38 2-36) =71E 2|2 157 M55 RSTOCK) (T 2-37) 12 15E7 H3E5 +(STOCK) F0|

1>



(E 2-30) Z|2 1547+ 0|2E35| £(STOCK)

(o] - 2)
= 7t 1990~2004 {1991~2005 1992~2006 '1993~2007 [1994~-2008 |1995~2009 [1996~2010 1997~2011 [1998~2012
o= 1,034,666 | 1,061,912 | 1,100,558 | 1,127,831 | 1,162,102 | 1,178,418 | 1,230,470 | 1,277,988 | 1,337,306
Y= 407,331 | 418147 | 433929 | 445358 | 456,747 | 469,864 | 492913 | 515999 | 543497
=4 130,083 | 131,480 | 133805 | 135547 | 137,568 | 139,837 | 145600 | 150,701 157,528
ot= 33,266 37,393 42,896 48,653 55,422 63,241 73,751 84,520 95,862
ogA 49817 49,817 50,218 50,319 50,573 50,934 52,563 54,307 56,735
FHLtct 39,983 41,018 42,553 43,907 45,356 47,003 49,751 52,5633 55,929
A= 45,678 46,028 46,805 47,671 48,456 49,398 51,218 53,060 55,599
O|Ez|ot 21,312 21,349 21,620 21,651 21,723 21,854 22,574 23,259 24,140
AQYE 16,409 16,764 17,291 17,726 18,150 18,458 19,086 19,942 21,156
Hgze 15,898 15,931 16,262 16,657 17,187 17,623 18,439 19,384 20,480
AQA 18,619 18,330 18,196 18,034 18,019 18,058 18,610 19,161 19,902
s 9,279 9,757 10,619 11,475 12,388 13,142 14,431 15,881 16,928
m2e 8,041 8,457 9,076 9,565 10,096 10,648 11,433 11,940 12,552
ML 7,773 7979 8,280 8,475 8,635 83877 9,300 9,614 9,965
QAEZ|0f 6,421 6,491 6,709 6,795 6,947 7,161 7,551 7942 8,424
Hlot= 4,901 5,101 5330 5525 5719 5,902 6,308 6,797 7314
Aol 3,082 3,225 3,367 3,502 3,647 3,823 4,089 4,401 4,866
c29o] 2,667 2,775 2,908 3,047 3,203 3342 3611 3838 4,140
ordeie 1,339 1,446 1,667 1,664 1,782 1911 2,116 2,343 2,610
FAHHE 1,269 1,340 1,435 1,504 1,670 1,660 1,784 1,912 2,050 65
HA|Z 868 916 953 970 979 995 1,056 1,107 1,184
&7t2| 844 797 761 720 725 725 766 823 903 %
Az 216 241 275 312 360 403 476 564 677 :
E4E=3 415 439 445 457 453 467 474 496 516 J%Jﬁ
i 187 193 214 241 287 314 345 387 453 ﬁ
EEIES 230 237 244 255 27 289 329 369 439 #Qill
Ol0|&&tE 130 147 169 182 203 223 241 259 277 (J)ﬁ
=F 95 100 115 130 146 163 190 228 270 (j\'lE:‘
ZEEZ 17 120 128 140 149 160 185 212 244 E
S24t7|0f 35 35 39 44 49 59 76 93 107
2| 141 148 154 174 178 191 206 237 269
Ol AEL|OF 18 23 25 32 34 36 50 60 85
o|AtA 9,515 10,140 11,054 11,826 12,678 13,732 15,167 16,664 18,604
SEHL{of 150 162 183 199 210 226 246 265 297

A28 USPTO, General Patent Statistics 2013,




(# 2-31) Z2 1542t AZEF £(STOCK)

(Tl - 2)
=2 7} 1990~2004 [1991~2005 1992~2006 1993~2007 [1994~2008 1995~2009 1996~2010 (1997~2011 1998~2012
o2 191944 | 194854 | 197,623 | 199691 | 201673 | 202830 | 202682 | 202,122 | 200867
Uz 168087 | 171,859 | 176759 | 182,157 | 185862 | 189,669 | 192615 | 194933 | 196775
=9 73888 | 74602 | 75584 | 76450 | 77078 | 77402 | 77268 | 76510 | 75562
p=I0N 20835 | 29799 | 29759 | 20879 | 29998 | 29920 | 29765 | 29466 | 29,076
o= 23102 | 23085 | 23102 | 23060 | 22940 | 22738 | 22504 | 22185 | 21874
= 8818 10395 | 11848 | 13388 | 14706 | 16,101 17,391 18768 | 20,294

E=Eli= 12136 | 12399 | 12658 | 12845 | 13072 | 13230 | 13223 | 13226 | 13205
AQA 11378 | 11305 | 11299 | 11,261 11238 | 11,201 1,132 | 11,021 10,899
AQl 9,821 9,048 10,111 10,183 | 10262 | 10182 | 10057 9783 9,452

EES 9,668 9,622 9520 9,497 9,424 9,344 9273 9118 8927
FHLiCt 6,582 6,828 7,053 7,287 7495 7,650 7775 7847 7.824
H710f 5016 5,124 5,181 5,199 5176 5,126 5,054 4998 4,868
mete 4,600 4721 4820 4,869 4,891 4,820 4,791 4722 4575

=ES 3890 3974 4,026 4,065 4,095 4,081 4,046 4018 3934
QAER[0}f 3,364 3451 3525 3629 3702 3,763 3809 3867 3881
diot= 2914 3038 3133 3219 3302 3343 3389 3,404 3422
AT 1,605 1,681 1748 1822 1,905 1976 2044 2,100 2139
=29)0| 1,253 1,281 1,300 1,301 1,305 1,305 1,303 1311 1,296
ordUe 563 595 620 660 708 M 772 814 843
66 SARME 514 545 569 585 614 632 651 655 652
&712| 408 412 419 435 443 457 468 480 486
Zate 126 132 136 149 163 186 214 237 267
EVEEE] 237 231 238 243 245 248 246 244 242
X2 158 165 170 181 190 202 217 204 230
ol A| 2 135 133 136 141 143 146 143 141 140

L2EZ 68 77 83 98 110 119 127 135 139

BEIPS 107 15 121 126 133 138 144 139 139
=H 55 65 74 81 87 9% 106 115 126
ofo|gzt= 68 69 69 73 78 80 77 74 74
&2H}7|o} 29 31 33 33 33 33 34 35 33
Sk 34 36 40 43 48 54 61 66 74
oAEL|O} 17 20 25 27 31 34 38 38 40
olAzt 3241 3514 3713 3869 4,022 4,148 4,246 4,298 4284
240} 9% 104 106 105 103 103 100 99 99

AtZ ¥ : OECD, Main Science and Technology Indicators 2014—1,
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E[=Ei= 0.0330.032|0.032 [ 0.031 | 0.030 | 0.030 |0.031 | 0.0330.034 | 12 | 11 [ 12 | 12| 12|12 11 [ 11| 11
AQdl 0.033|0.0310.033|0.031|0.032 |0.030{0.030{0.030 0030 | 11 | 12| 11| 11|11 |11 [12] 12|12
E{7] 0.011]0.013/0.014{0.018|0.018 | 0.021 [ 0.023 | 0.026 | 0.027 | 19| 18 | 18 | 16| 16 | 14 | 14 | 13 | 13
QAEZ|O} 0.019 1 0.020 | 0.020 | 0.020 | 0.021 |0.021 [ 0.022 | 0.023 | 0.023 | 15| 14 | 14| 13| 14 | 15| 15| 16| 14
AQA 0.024 {0.022 | 0.020 | 0.019 | 0.025 | 0.025 | 0.025 | 0.024 | 0.023 | 13 | 13 | 13 | 14| 13 | 13| 13 | 14| 15
270 0.019/0.0180.0180.018|0.018 |0.019 | 0.021 | 0,022 | 0.022 | 14 | 15| 15| 15| 15|16 |16 | 16 | 16
HA|Z 0.0150.015/0.015|0.014|0.015 |0.016 [ 0.018 | 0.018 | 0.017 | 17 | 17 | 17 | 18| 18 | 18 | 17 | 17 | 17
e 0.008 | 0.008 | 0.008 | 0.009 | 0.009 | 0.011 |0.013|0.014|0.017 |21 |21 |21 |21 |21 |20 |20 |20 | 18
m2te 0.01710.016 1 0.016 | 0.017|0.018 |0.018 | 0.018 0018|0016 | 16 | 16 | 16 | 17| 17 | 17 |18 | 18 | 19
o3 0.013]0.013/0.013|0.013|0.015 |0.016 [ 0.016 | 0015|0015 | 18 | 19| 19| 19| 19|19 |19 | 19| 20
E=L]] 0.009 | 0.009 | 0.010 [ 0.010|0.011 |0.011 [0.011{0.011 001120 |20 | 20 | 20 | 20 | 21 | 21 | 21 | 21
A= 0.007 | 0.007 | 0.008 | 0.009 | 0.008 | 0.008 | 0.008 | 0.010 | 0.011 | 22 | 22 | 22 | 22 | 23 | 23 | 23 | 22 | 22
T2EZ 0.004 | 0.004 | 0.006 | 0.007 | 0.009 |0.010 [ 0.010 | 0.009 | 0.008 | 24 | 24 | 23 | 23 | 22 |22 |22 | 23 | 23
oy 0.005 | 0.005 | 0.005 | 0.006 | 0.006 | 0.007 [ 0.007 | 0.007 | 0.007 | 23 | 23 | 24 | 24 | 24 | 24 | 24 | 24 | 24
S7t2) 0.004 | 0.004 | 0.004 | 0.004 | 0.004 | 0.005 | 0.005 | 0.006 | 0.006 | 26 | 25 | 25| 25| 25| 25 | 25 | 25 | 25
a2|A 0.004 | 0.004 | 0.004 | 0.004 | 0.004 | 0.004 | 0.003 | 0.004 | 0.004 | 25 | 26 | 26 | 26 | 26 | 26 | 26 | 26 | 26
EaSk = 0.003 | 0.003 | 0.002 | 0.003 | 0.003 | 0.003 [ 0.003 | 0.003 |0.003 | 27 | 27 | 27 | 27 | 27 | 27 | 27 | 27 | 27
£2H4i7|of 0.000 | 0.000 | 0.000 | 0.001 | 0.001 {0.001 | 0.001 | 0.001 |0.002 | 29 | 29 | 29 | 29 | 29 | 29 | 28 | 28 | 28
EMdEz3 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 |0.001 | 28 | 28 | 28 | 28 | 28 | 28 | 29 | 29 | 29
of0|&2E 0.000 | 0.000 | 0.000 | 0.000 | 0.000 |0.000 | 0.000 | 0.000 | 0.000| 30 | 30 |30|30|30|30|30]|30|30
OECD Tat 0.078 | 0.078 | 0.078 | 0.078 | 0.078 | 0.078 | 0.079 | 0.080 | 0.079




(& 2-38) HAPNLEX} 5

e I == ()

=V 2004 2005 2006 2007 2008 2009 2010 2011 2012
o= 305640 | 328128 | 353328 | 380316 | 407,238 | 406000 | 409599 | 429143 | 453544
U= 117,601 | 128695 | 138577 | 147,604 | 148719 | 137,017 | 140657 | 148389 | 151,728
=9 61280 | 64299 | 70263 | 73957 | 81971 | 83134 | 87832 | 96971 | 102238
a2 27862 | 30618 | 35354 | 40695 | 43906 | 46130 | 52100 | 58380 | 65395
1PN 37,955 | 39236 | 42033 | 43976 | 46548 | 49944 | 50736 | 53311 | 55352
¥z 31,998 | 34081 | 37063 | 38700 | 39397 | 39581 | 38144 | 39217 | 39110
EES 17468 | 17999 | 20217 | 22297 | 24076 | 24741 | 25154 | 25781 | 26321
FHLic 21669 | 23090 | 24117 | 24778 | 24917 | 25052 | 24703 | 24757 | 24801
=S 11,681 15,480 19,133 20,469 20,469
ATQl 11778 | 13331 16078 | 18300 | 20415 | 20632 | 20338 | 20,107 | 19556
=1 10,411 10,904 11,733 12,051 12,468 12,417 12824 | 14598 15,661
A9 10443 | 10510 | 11,955 | 12074 | 13496 | 12647 | 12587 | 13366 | 13899
g7 3,566 4617 5198 7,042 7,744 8900 9,854 11302 | 12656
2AEZ|0}f 6,001 6,803 7,385 7910 8,854 8894 9,484 9971 10,550
AQA2) 7,465 10,525 10525
710 6,025 6,171 6,719 7,162 7,799 8075 8767 9,739 10,095
EEE) 4747 5,346 5,475 5,696 6,627 6,996 7.883 8058 8058
Z2c 2,768 2,982 3,199 3617 4,151 4883 5723 6,409 7.899
mee 5,384 5,601 6,071 6,631 7,488 7,543 7,654 7.898 7,530
dlop= 4333 4,419 4,860 5,307 6,236 6,742 6813 6,935 7138
=290] 3,062 3316 3715 4,186 4,631 4,694 4,744 5,064 5,482
) 2,454 2,665 3086 3583 3,497 3674 3,797 4,659 5,443 77
n2gy 1550 1755 2,400 2,987 3982 4382 4349 4153 4,081
RIE= 1829 2,009 2,255 2,535 2,738 3078 3,167 3,170 3340 .
5712 1437 1616 1854 1,869 2,058 2,392 2,473 2,722 2912 =
REIPN 1468 1615 1,750 1,865 2,007 1994 ;
AR 1,189 1433 1667 1,767 1,767 J%i'
&24}7)of 404 440 483 517 594 595 816 921 1,150 ﬁ
EVIEEE] 485 495 617 639 683 686 641 660 692 #i;l
0t0|&2tES) 287 327 310 334 339 318 318 éﬁ
e 851 1017 951 1,035 1173 1312 ol
o AEL|O}F 170 207 291 313 379 378 444 734 710 E
olAzt 6,652 6,966 7422 8735 8,706 8,487 8,642 9,306 9735 B
S21L{of 620 675 797 795 973 1,023 1,163 1,430 1540

Atz @ : OECD, Main Science and Technology Indicators 2014—1.
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(E 2-39) GDP [HH| HITIHUEX} EH HIF(EZSE 2

GDP Cht| AFIHUERE ZH HIS =9
= 06 | 07 |08 | 09 | 10 | 11 | 12 | 13 | 14 |’06 °07 08|09 |'10 (11|12 1314
Bt 0.720 | 0.757 | 0.796 | 0.916 | 0.897 | 0.892 | 0.953 | 1.000 [1.000| 6 | 5 | 4 [ 4| 4 [ 3 [ 2 | 1 | 1
m2te 0961 0,974 0937 | 1.000 | 1.000 | 1.000|1.000 {0933 [0795| 2 | 2 |2 | 1| 1|1 |1 |22
AQJe 1.000 | 1.000 | 1.000 | 0.988 | 0.998 | 0.908 | 0.852 | 0.820 (0758 | 1 | 1 | 1 [ 3| 2|2 |3 |3 |3
o= 0.861 0921|0917 |0.997 [0.929 [0.834 | 0.812 |0818(0744| 3 | 3 |3 |2 |3 |4 | 4| 4|4
Eh=t 0.657 | 0.650 | 0.636 | 0.713 | 0.742 | 0.778 | 0.739 | 0.706 [ 0651 | 9 | 10| 9 | 8 |6 |5 |5 | 5| 5
=9 0.663 | 0.666 | 0.655 | 0.697 | 0.693 |0.682 | 0.682 (0683 (0649| 7 | 7 | 8 | 9| 8|7 |8 |66
AQA 0.7610.764 | 0,738 | 0.788 | 0.748 | 0.695 | 0.701 | 0677 [0622| 5 | 4 | 6 | 5|5 |6 |6 | 7 | 7

QAER|O} 0.579|0.651 | 0.624 | 0.689 | 0.687 | 0.649 | 0.680 | 0.648 | 0.613| 10| 9 | 10| 10| 9 |10 9 | 8 | 8

o= 0.659 | 0.666 | 0.657 | 0.728 | 0.717 | 0.680 | 0.663 | 0.647 |0602| 8 | 8 | 7 | 7 | 7 | 9 |10| 9 | 9

(== 0.762|0.751 | 0.791 | 0.746 | 0.680 | 0.681 | 0.686 | 0.603 | 0.554 | 4 | 6 | 5 | 6 | 10| 8 | 7 | 10| 10

oA 0.554 | 0.540 | 0524 | 0553 | 0,522 | 0,525 | 0.519 | 0.505 | 0.474 | 11 | 11 [ 11| 11 [ 12| 11 | 11| 11| 11
o] 0.459 | 0.452 | 0.449 | 0,491 | 0.474 | 0.455 | 0.479 | 0.495 | 0.460 | 14 | 14 | 15| 14| 13 [ 13 [ 13 | 12| 12
5% 0.420 | 0.420 | 0.492 | 0527 | 0.559 | 0.518 | 0.504 | 0.489 | 0.449 | 15 | 15 | 12| 12| 11| 12| 12 [ 13| 13

Hgzt= 0.482 | 0.475 | 0.456 | 0.464 | 0.413 | 0.395 | 0.407 | 0.443 | 0.440 | 13 | 13 | 14 | 15| 15| 16 | 14| 14| 14

H I 0.2530.260 | 0277 | 0.321 [ 0,271 [ 0.263 | 0.274 | 0.336 | 0.370 | 20 | 20 [ 19 | 19 | 22 | 22 | 21 | 18| 15

¥z 0.401 | 0.410 | 0.407 | 0.445 | 0,409 | 0.397 | 0.383 | 0.375|0.332 | 16 | 16 | 16 | 16 | 16 | 15| 16 | 15| 16

FHLICE 0.509 | 0.502 | 0.478 | 0.499 | 0.444 | 0.425 [ 0.395 | 0.365 | 0.321 | 12 | 12 | 13 | 13| 14 | 14 [ 15| 16| 17 79
orie 0.262 | 0.267 | 0.264 | 0.295 | 0,316 [ 0.358 | 0.358 | 0.328 | 0.314 | 19| 19 [ 20 | 20 | 20 | 19 | 17 | 19| 18

=290] 0.3700.349 | 0.334 | 0.395 | 0,358 | 0.378 | 0.356 | 0.339 | 0.312 | 18 | 18 | 18 | 17 | 18 | 17 | 18 | 17| 19 e,
T2EZ 0.1100.119|0.185 | 0.257 [ 0,333 [ 0.345 | 0.330 | 0.304 | 0.272 | 25 | 25 | 25 | 24 | 19| 20 | 19 | 20 | 20 E
2ME=23 03890366 |0.389 |0.390 | 0.380 | 0.374 0305 | 0.279 (0,262 | 17 [ 17 | 17 [ 18| 17 | 18 | 20 | 21 | 21 J%JI
AT[Q! 0.210 [0.227 | 0.249 | 0.290 | 0.287 | 0.274 [ 0.273 | 0.257 | 0223 | 23 | 22 | 21 | 21 | 21 | 21 |22 | 22| 22 HH%
5712 0.152|0.171|0.191 | 0.198 [ 0,182 [ 0.210 | 0.208 | 0.219 | 0.221 | 24 | 24 | 24 | 25 | 25 | 25 | 25 | 25 | 23 #i;l
EE 0.2190.216 | 0.228 | 0.259 | 0,243 [ 0.237 | 0.235 | 0.229 | 0.214 | 22 | 23 | 23 | 23 | 23 | 24 | 24 | 24 | 24 éfﬂg
SAE 0.241[0.230 | 0.228 | 0.260 | 0.234 | 0.241 [ 0.239 | 0.232 | 0213 | 21 | 21 | 22 | 22 | 24 | 23 | 23 | 23 | 25 (1\‘3
Ef7| 0.039 | 0.059 | 0,063 | 0.114 {0,097 [0.119 | 0.113 |0.120 | 0.126 | 28 | 27 | 27 | 26 | 26 | 26 | 26 | 26 | 26 T@
Zatc 0.051 | 0,052 | 0,055 | 0.064 | 0,061 [ 0,069 | 0.081 |0.094 | 0.120 | 26 | 28 | 28 | 28 | 27 | 27 | 27 | 27 | 27

S24t7(of 0.037{0.032 | 0.034 | 0.029 | 0.021 | 0.015 | 0.051 | 0.070 | 0.101 | 29 | 29 | 29 | 29 | 29 | 29 | 28 | 28 | 28

mEEIES 0.051 [0.061|0.064 | 0.075 | 0.060 | 0.048 | 0.041 | 0.067 |0.068 | 27 | 26 | 26 | 27 | 28 | 28 | 29 | 29 | 29

LIPNE] 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30

OECD B+ 0.428 | 0.434 | 0.437 | 0.473 | 0.459 | 0.448 | 0.444 | 0.436 | 0.409
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(E 2-40) GDP rH| H/HUEX} ZU HIF
(T2 %)

=V 2004 2005 2006 2007 2008 2009 2010 2011 2012
= 2.68 2.79 301 321 336 356 3.74 4,04 436
mate 345 348 348 3.47 370 394 390 380 355
AQE 358 356 3.68 3.43 370 362 339 339 3.41
Uz 313 331 341 346 347 336 325 338 335
== 2.48 2.46 248 258 285 316 300 298 2.98
=9 250 2.51 254 253 2,69 282 2.80 2.89 2.98
AQATN) 2.82 287 287
AEZ|o} 224 2.46 2.44 251 267 2.71 2.80 277 2.84
)= 249 251 255 263 277 282 2.74 2.76 2,79
otol&E=2) 277 2.99 2.68 2.65 2.82 261 2.61
oA 2.16 2.1 2.1 208 212 2.27 2.24 2.25 2.29
(o] 1.86 183 1.86 189 1.97 2.03 2.10 2.21 2.24
573 173 200 2.25 219 219
Hgte 193 1.90 1.88 181 1.77 182 186 203 2.16
X2 120 122 1.29 137 1.30 1.35 1.40 164 1.88
oz 167 1.70 172 175 175 182 177 1.78 173
HLtct 201 1.99 1.96 192 1.87 192 182 174 1.69
oryae 1.23 1.25 1.25 1.28 1.45 1.69 1.69 161 1,66
290 157 151 1.48 159 158 1.76 1.68 166 1,65
nzey 0.74 0.78 099 117 1.50 1.64 159 152 150
EREEE] 163 156 1.66 158 1.66 174 151 143 1.46
ATQl 1.06 112 1.20 127 1.35 1.39 1.40 1.36 1.30
ENE 088 094 1.01 098 1.00 1.17 117 122 1.30
EEI; 1.09 1.09 1.13 117 1.21 1.26 126 126 127
FEUEY 113 117 1.28 1.26 1.26
=H 052 059 058 0.72 073 085 0.84 086 092
Zac 056 057 056 057 0.60 0.67 0.74 0.76 0.90
<24t7|0t 051 051 0.49 0.46 0.47 0.48 063 0.68 082
mEIPN 056 0.60 059 0.60 0.67 0.69
ENER 0.39 0.40 037 037 0.40 043 0.45 043 0.43
Az 0.31 0.37 0.35 0.33 0.34 0.35

O AEL|O} 0.85 093 1.13 1.08 1.28 1.41 162 237 219
olAat 399 415 422 452 4.40 417 397 397 393
S24Lof 1.39 1.44 1.56 1.45 1.66 1.85 210 247 2.63

Atz @ : OECD, Main Science and Technology Indicators 2014—1.
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(B 2-41) A9 191e ANLEX(ERS Z))
HTE 11g APIHLER =9

= 06 | 07 |08 | 09 | 10 | 11 | 12 | 13 | 14 |’06 °07 08|09 |'10 (11|12 1314
AQA 1.000 0,984 0,931 [0.858 | 1.000 | 1.000 | 1.000 [ 1.000|1.000| 1 | 2 | 3 | 2 | 1 [ 1|1 [ 1|1
o= 0932 |1.000 | 1.000 | 1.000 [ 0.793 |0.748 | 0.789 |0.788 (0778 | 2 | 1 | 1 [ 1| 2|2 |2 |2 |2
= 0.738 | 0.760 | 0.773 | 0.723 | 0.603 | 0.581 | 0.587 | 0,631 [0635| 6 | 4 | 5 | 5| 4 |6 |3 |3 |3
AQe 0.688 | 0,584 | 0.639 | 0.755 | 0.596 | 0598 | 0.552 | 0.600 [0602| 8 | 9 | 8 | 4| 5| 4|5 | 4|4
QAER[O}  |0755|0.771|0.780 | 0.708 | 0564 | 0.567 | 0570 [0582 0576 5 | 3 | 4 |6 | 6 |7 | 4|55
qlge= 0.692 | 0,728 | 0.662 | 0.661 | 0.535 | 0.588 | 0,507 [0.529[0559| 7 | 5|7 | 8| 8|5 |8 | 6|6
EE 0.800 | 0.690 | 0,691 | 0.674 | 0550 | 0.530 | 0.519 (05100472 3 | 7 |6 |7 | 7|8 |7 |7 |7
o= 0555 [ 0577 | 0.594 | 0.592 | 0.483 | 0.439 | 0.440 | 0.463 |0.464 | 11 [ 10| 9 | 9 | 9 [12[11| 9| 8
Z710] 0579 | 0.566 | 0.558 | 0.529 | 0.444 | 0.445 | 0.441 [ 0.469 | 0.448 | 10| 11| 11 | 12| 10| 11|10 | 8 | 9
mafA 0585 | 0.595 | 0,584 | 0.532 | 0.423 [ 0.450 | 0.424 [0.429 [ 0.404| 9 | 8 [ 10| 11| 12 [ 10|12 | 11|10
2M=23 07850707 | 0955 |0.847 | 0.677 | 0.646 | 0520 [0.440 (0397 | 4 | 6 | 2 | 3| 3|3 |6 |10/ 11
ofUUE 0501|0517 | 0531 |0.538 | 0.381 | 0.461 | 0.465 [0.415 0386 | 14 | 12| 121013 | 9 | 9 | 12|12
5t 0549 | 0.504 | 0,500 | 0.482 | 0.374 | 0.386 | 0.393 | 0.396 [ 0.384 | 12 | 13 | 14 | 13| 14 | 14 | 14|13 | 13
ES 0.4140.402 | 0.503 | 0.462 | 0.429 | 0.433 | 0.419{0.368 [ 0.382 | 18 | 17 | 13 | 14| 11 [ 13| 13|15 14
=290 0.4310.451 | 0.456 | 0.443 | 0.360 | 0.358 | 0.344 | 0.351 [0.364 | 17 | 16 | 17 | 16| 16 [ 17 | 17| 16| 15
== 0.499 | 0.452 | 0.469 | 0.456 | 0.343 | 0.370 | 0.351 {0,342 [0.332 | 15| 15| 16 | 15| 18 | 16 | 16| 17 | 16
mats 0365 | 0.393 | 0,402 | 0.436 | 0.366 | 0.374 0,359 | 0.383 [0.323 | 20 | 18 [ 19 | 17 | 15 [ 15 | 15| 14 | 17
EE: 0319 ]0.316 | 0.405 | 0.369 | 0.347 [ 0.316 | 0.332 [0.320 [ 0.289 | 22 | 21 | 18| 20 | 17 [ 19| 18 | 18| 18
R 0.441 0271|0282 | 0,295 | 0.189 | 0.222 | 0.209 | 0.256 [ 0.259 | 16 | 24 | 24 | 24 | 24 | 24 | 24 | 23 | 19
FHLtC 0502 | 0.499 | 0.480 | 0.415 | 0.300 | 0.326 | 0.286 | 0.271 [0.239 | 13 | 14 | 15| 18| 19 | 18 | 19| 19 | 20
= 0.398 | 0.376 | 0.386 | 0.379 | 0.294 | 0.294 | 0.260 | 0.268 [ 0.231 | 19| 19 | 20 | 19| 20 | 20 | 22 | 21 | 21
Aol 0.308 | 0.315| 0,360 | 0.366 | 0.293 | 0,293 | 0.267 [ 0263 [ 0.230 | 23 | 22 | 21 | 21 | 21 | 21| 21 | 22 | 22
E7| 0.264 | 0.301 | 0,298 | 0.340 | 0.268 | 0.292 | 0.272 | 0.269 [ 0.229 | 24 | 23 | 23 | 22 | 22 | 22 | 20 | 20 | 23
Olo|&E 0364 0.361 |0.350 |0.336 | 0.262 | 0.242 | 0.224 [0.225 | 0.190 | 21 | 20 | 22 | 23 | 23 | 23 | 23 | 24 | 24
&7tz 0.229 | 0.238 | 0,238 | 0.223 | 0.172 |0.199 | 0.170 | 0.162 [ 0.136 | 25 | 25 | 25 | 25 | 25 | 25 | 25 | 25 | 25
gtc 0.030 | 0.030 | 0.047 | 0,058 | 0.054 | 0.094 | 0.096 | 0.111 [0.124 | 29 | 29 | 29 | 29 | 29 | 29 | 28 | 27 | 26
Sae 0.2030.199 | 0,186 | 0.192 | 0.137 | 0.157 | 0.136 | 0.135 [ 0.096 | 27 | 26 | 27 | 27 | 27 | 26 | 26 | 26 | 27
mEIEN 0208 0,164 | 0,173 0,160 | 0.112 | 0.118 | 0.089 | 0.059 [ 0.021 | 26 | 28 | 28 | 28 | 28 | 28 | 29 | 29 | 28
n2gy 0145 | 0.166 | 0.208 | 0.218 | 0.138 0,146 | 0.110 [ 0.064 | 0.015 | 28 | 27 | 26 | 26 | 26 | 27 | 27 | 28 | 29
£24}7|0F | 0.000 | 0.000 | 0.000 | 0,000 | 0,000 | 0.000 | 0.000 | 0.000 | 0.000 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30
OECD H# | 0.476 |0.464 | 0.481 | 0.468 | 0.383 [ 0.389 | 0.371 | 0.370 | 0.352




(B 2-42) AT 1008 AFILEX}
(&9 : =2f (PPP)

= 7t 2004 2005 2006 2007 2008 2009 2010 2011 2012
AQAY) 293915 418,635 418,635
o|=2) 276573 | 298011 | 312629 | 335507 | 341923 | 324545 | 341823 | 342507 | 342507
=9 206,782 | 236264 | 251097 | 254275 | 271007 | 262065 | 267818 | 286383 | 293438
Al 214074 | 190777 | 214520 | 263559 | 268739 | 268174 | 255248 | 275089 | 282047
QAEZ|0} 231,195 | 238941 | 252928 | 249731 | 256579 | 256574 | 261,766 | 268667 | 273,049
ygz= 215,102 | 227868 | 220,754 | 236036 | 245783 | 264421 | 238787 | 249762 | 267,262
I 242576 | 218109 | 228621 | 239,755 | 251405 | 242944 | 243215 | 242868 | 237,500
Y= 179888 | 189,081 | 202,336 | 215697 | 226473 | 209017 | 214406 | 225979 | 234,747
2710 185,940 | 186,180 | 192,635 | 197,203 | 212084 | 211248 | 214707 | 228166 | 229,155
m2fA3) 187,544 | 193750 | 199,596 | 198225 | 204445 | 213103 | 208331 | 214025 | 214,025
eV EEE] 238817 | 222421 | 300313 | 290536 | 298491 | 286458 | 243355 | 217877 | 211588
o 166,082 | 173422 | 185251 | 199714 | 188824 | 216944 | 223392 | 208915 | 207,770
otz 178351 | 170279 | 176,779 | 183372 | 185936 | 188998 | 197,262 | 202,075 | 207,214
s34 143,868 177517 206,511 206,511
=290 148191 | 156,406 | 164539 | 171919 | 181035 | 178681 | 179364 | 185999 | 196909
diota 165597 | 156,814 | 168484 | 175878 | 174665 | 183273 | 181983 | 182761 | 189,450
m2te 131311 | 141509 | 150,233 | 170032 | 183,172 | 184,657 | 184766 | 197,430 | 186,076
ol A| 25) 119489 | 121,719 | 150977 | 150,169 | 176056 | 162,802 | 175008 | 174710 | 174710 ——
A 150,544 | 110245 | 117,472 | 128534 | 117402 | 127,754 | 129905 | 151,865 | 164,098
FHLICte) 166,197 | 168910 | 171,457 | 163737 | 158504 | 166,767 | 158092 | 157,326 | 157,326
o 139,747 | 137,091 | 145914 | 153176 | 156379 | 154539 | 148659 | 156023 | 154,797
AT 116618 | 121498 | 138845 | 149237 | 155856 | 154,197 | 151044 | 154390 | 154,252
ZE] 105,268 | 117976 | 121,837 | 141790 | 146,645 | 154098 | 153147 | 156,734 | 154,111
(e 133220 | 136082 | 140534 | 144557 | 135408 140,654 | 140,654 83
&7t2| 96,386 | 101,755 | 105652 | 107,481 | 111,229 | 119203 | 115868 | 118237 | 122,146
Zate 45427 | 47978 | 53696 | 58921 67,161 79912 | 88717 | 99936 | 117.895
= 91,584 98,159 103,554 108,380 | 108380 W
mEIES 82454 | 87931 88764 81337 | 82674 %
T2EZ 74927 | 83080 | 97374 | 106018 | 98542 | 99393 | 94023 | 82952 | 80511 ;
=2H}7|0} 37656 | 40296 | 40988 | 41886 | 47200 | 44771 53758 | 60,113 | 75325 o
Bk 153231 | 170589 | 195803 | 190,268 | 192808 | 192,909 >
OAEL|O} 50,498 | 62211 82711 84,731 95268 | 87579 | 108978 | 162620 | 155057 #O_;l
0] A2t219) 186,885 | 186,885 éﬁ
2ot 153731 | 128477 | 136026 | 127,148 | 138307 | 137411 | 150988 | 162,952 | 173312 oF
% XF=E® : OECD, Main Science and Technology Indicators 2014-1. ﬁ
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(Z 2-43) MUSIPIIR| ] 7|HATHLEXL HIS(EES )
MARIILA| ] 7| GAANLER} HIS =2
= 06 | 07 | 08 | '09 | 10 | 11 | 12 | 13 | 14 06 |°07 |'08|'09|’10 11|12 13 |'14
gtz 0.684 | 0.726 | 0.752 | 0.885 | 0.832 | 0.799 | 0.868 |0.959 [ 1.000 | 4 | 4 | 4 | 4 | 4 | 65| 2 | 2 | 1
e 0.921]0.961|0.906 | 0.997 | 1.000 | 1.000 | 1.000 | 1.000 | 0871 2 | 2 | 2 | 2 | 1 [ 1 | 1 | 1]2
Uz 0.816 | 0.880 | 0.869 | 0.987 | 0.909 | 0.803 | 0.815|0.861 | 0802 3 | 3 | 3 | 3 |3 | 4|3 |3 |3
AQYE 1.000 | 1.000 | 1.000 | 1.000 | 0.995 | 0.876 | 0.805|0.808 | 0.756 | 1 | 1 | 1 | 1 | 2 |2 | 4 | 4| 4
Hot= 0.675|0.675|0.626 | 0.761 | 0.759 | 0.816 | 0.759 | 0.739 | 0695 | 5 | 6 | 7 | 5 | 5 | 3 | 5 | 5| &
o= 0.631]0.645 | 0.628 | 0.732 | 0.716 | 0.669 | 0.656 | 0.662 | 0645 7 | 7 | 6 | 6 | 6 | 6 | 6 | 6 | 6
=4 0.621]0.622 | 0.597 | 0.665 | 0.640 | 0.622 | 0.628 | 0.658 |0645| 8 | 8 | 8 | 8 | 7 |7 | 7 | 7| 7
AQA 0.671]0.675|0.637 | 0.709 | 0.633 | 0.579 | 0.604 | 0.606 | 0605| 6 | 5 | 5 |7 |8 |8 | 8| 8|8

QAEZ|0f 0.508 | 0.586 | 0.548 | 0.626 | 0.596 | 0.557 | 0.602 | 0.599 | 0586 | 11| 9 | 10| 9 | 9 | 9 | 9 | 9| 9

oA 0.516 | 0.498 | 0.483 | 0.530 | 0.490 | 0.476 | 0.503 | 0.515|0.503 | 10 | 11 | 11 | 11| 11 | 10| 10| 10| 10

o] 0.453 | 0.438 | 0.431 | 0.492 | 0.459 | 0.424 | 0.466 | 0.506 | 0.477 | 13 | 12 | 12 | 12 | 12| 12 [ 12 | 11| 11

ool &= 0.546 | 0.547 | 0.584 | 0.596 | 0.510 | 0.463 | 0.468 | 0.469 | 0.443| 9 | 10| 9 | 10| 10 | 11| 11|12 12

qlge= 0.351]0.333|0.319|0.336 | 0.280 | 0.242 | 0.262 | 0.352 | 0.360 | 15 | 16 | 17 | 17| 18 | 19| 18 | 15| 13

EES 0.293]0.322 | 0.344 | 0.427 | 0.418 | 0.361 | 0.374 | 0.361 | 0.341 | 17 | 17 | 14 | 14| 13 | 14 | 13 | 14| 14

=2 0.3470.341 ] 0.329 | 0.382 | 0.344 | 0.316 | 0.333 | 0.362 | 0.335 | 16 | 15| 16 | 15| 15| 16 | 15| 13| 15

ordac 0.248 ] 0.241 | 0.233 | 0.268 | 0.292 | 0.326 | 0.336 | 0.332|0.330 | 19 | 18 | 18 | 19| 17 | 15| 14| 16 | 16

W 0.2110.194 | 0.197 | 0.232 [ 0,202 [ 0,187 | 0.209 | 0.242 | 0.262 | 20 | 20 | 20 | 20 | 22 | 21 | 21 | 20 | 17 85
SMEE3 |0475(0433 0426 [0.431 0,390 | 0.367 | 0.275 [ 0.269 [0.255 | 12 | 13 | 13 | 13| 14 [ 13| 17 | 18| 18
HLiCH 0.3810.359|0.339 | 0.363 | 0.310 [ 0.301 | 0.281 |0.276 | 0.252 | 14 | 14 | 15| 16| 16 | 17 | 16 | 17| 19 e,
&712| 0.097 | 0.099 | 0,122 | 0.145 [ 0,149 [ 0,184 | 0.203 | 0.223 | 0.246 | 24 | 24 | 24 | 24 | 24 | 23 | 22 | 21 | 20 E
290 0.276 [ 0.239 | 0,219 | 0.269 | 0.241 | 0.252 | 0.247 | 0.247 [ 0.234 | 18| 19| 19| 18| 20 | 18| 19| 19| 21 J%Jl
zags 0.063 | 0,062 | 0,123 | 0.198 | 0.243 | 0,225 | 0221 [ 0.215 [ 0,200 | 25 | 25 | 23 | 22 | 19| 20 | 20 | 22 | 22 nﬂ%
EEDS 0.156 | 0.154 | 0,152 | 0.193 [ 0,194 [ 0,186 | 0.199 | 0.203 | 0.195 | 22 | 22 | 22 | 23 | 23 | 22 | 23 | 23| 23 #O_il
A2 0.160 | 0.158 [ 0.174 | 0.211 | 0.203 [ 0.174 | 0.190 | 0.190 [0.173 | 21 | 21 | 21 | 21 | 21 | 24 | 24 | 24 | 24 <JL§
SAE 0.127|0.115|0.111 | 0.140 [ 0,131 [ 0,126 | 0.133 | 0.150 | 0.142 | 23 | 23 | 25 | 25 | 25 | 25 | 25 | 25 | 25 (%
E{7| 0.000 | 0.008 | 0.017 | 0.054 | 0,062 | 0.058 | 0.068 | 0.074 | 0.084 | 30 | 28 | 26 | 26 | 26 | 26 | 26 | 26 | 26 %

SZHt7|0f 0.04310.025 | 0.011 | 0.005 | 0.018 | 0.008 | 0.031 | 0.030 | 0.054 | 26 | 26 | 27 | 28 | 28 | 28 | 27 | 28 | 27

s 0.012]0.001 | 0.003 | 0.005 | 0.017 | 0.008 | 0.011 | 0.025 | 0.054 | 28 | 29 | 29 | 29 | 29 | 29 | 29 | 29 | 28
mEEIES 0.024 10.0110.010|0.0140.020 | 0.010 | 0.013 | 0.047 | 0.046 | 27 | 27 | 28 | 27 | 27 | 27 | 28 | 27 | 29
LIPNE] 0.012 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 29 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30

OECD B+ 0.377 | 0.378 | 0.373 | 0.422 | 0.402 | 0.380 | 0.385 | 0.399 | 0.386
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(& 2-44) MARIIR] hH| 7|HARIHLEXL HIS
(] : %)

= 7t 2004 2005 2006 2007 2008 2009 2010 2011 2012
o= 3.00 315 344 362 377 3.94 409 4,49 493
mate 397 4,08 4,09 405 4.49 487 468 4,67 433
U 354 376 393 401 410 396 386 4,05 4,00
AQEl 430 424 4,49 406 4.47 430 381 382 3.78
==l 2.96 2.94 2.90 314 345 402 361 351 350
e 278 2.82 291 303 327 3.34 315 317 3.26
=9 2.74 273 2.78 2.78 2.94 312 303 315 3.26
AQA 295 292 307
QAERZ|0} 227 259 257 263 2.76 282 291 2.89 2.98
oA 230 2.24 229 226 230 2.44 247 251 259
Ev 205 2,00 207 2.1 217 220 230 2.47 2.47
oto|sE 243 272 251 239 2.38 2.31 2.30 2.30
Hge 163 158 1.59 151 1.40 1.36 1.40 178 1.91
372 1.39 154 1.70 187 1.99 191 1.89 1.82 1.82
== 161 161 164 169 168 1.70 171 183 1.79
oy 1.20 121 1.23 1.26 1.45 175 173 169 177
H A 1.05 1.03 1.08 112 1.07 1.10 1.16 129 1.45
ZM=23 2.14 198 205 1.88 1.87 194 1.45 1.41 1.42
FHLict 175 168 1.68 162 153 1.63 1.48 1.44 1.40
7t 058 0.65 0.76 0.78 084 1.09 113 1.21 1.38
290 132 121 1.17 1.26 1.23 1.41 1.33 1.32 1.32
nzey 0.44 050 0.76 099 1.24 1.28 121 117 1.16
o|kz/ot 082 0.87 0.88 0.97 1.03 1.10 111 1.12 1,14
ATQl 084 0.88 098 1.03 1.07 1.04 1.07 1.06 1.03
FAUEY 0.71 0.76 0.82 088 088
=E 0.18 0.28 031 0.43 047 051 053 0.54 061
SE2Ht7(0f 0.36 035 0.29 0.25 0.27 0.28 0.37 0.35 047
Zac 0.23 026 025 0.25 0.27 0.27 0.28 033 0.47
mEIES 0.28 0.30 0.28 0.28 0.42 0.43
LN 0.23 025 0.24 023 0.20 0.24 0.23 0.21 0.21
Az 0.15 0.21 0.14 0.14 0.14 0.16

o AEL|of 0.49 062 0.74 0.76 083 104 1.28 2.33 196
olAet 580 592 6.06 6.62 6.40 6.18 590 6.05 6,01
Z24|Lof 1.40 127 1.40 127 158 1.84 2.20 2.81 307

% At=% : OECD, Main Science and Technology Indicators 2014—1.
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(E 2-45) GDP CHH] HEANLAAERSEL 2
GDP Cit] HEHATI Lol At 29l
= ‘06 | '07 | 08 | 09 | 10 | 11 | 12 | 13 | 14 |’'06|'07 08 09’10’1112 |’13 |14
n2ie 0.976 | 1.000 | 1.000 | 0.984 | 0.995 | 0.978 | 1.000 | 1.000 | 1.000 | 2 | 1 21221 1 1
ot= 0.650 | 0.702 | 0.730 | 0.817 | 0.908 [ 0.845 | 0.844 {0951 {0979 | 9 | 7 | 7 | 4 | 5 |5 |4 |2 | 2
ofo|&e2E 0.82710.8230.813|0.842 | 0927 |0.944 |0.858 0905|0976 4 | 4 | 3 |3 |3 |3 |2 |5 |3
dlof3 0.621]0.625|0.645|0.763 0824 {0829 |0.785|0911 {0943 | 12|10 9 | 5| 7 | 6 | 6 | 4| 4
H2EZ¢ 0501 |0.609 | 0.609 | 0.712 10912 10891 | 0848|0914 {0841 | 16|13 |12 |11| 4| 4|3 |3 |5
=9 0.691|0.697|0.689 | 0.736 | 0.757 |0.753 |0.735 0778|0791 | 7 | 8 | 8 | 8 | 9 | 8 |7 |7 | 6
o= 1.000 | 0.972 | 0.952 | 1.000 | 1.000 | 1.000 | 0.817 {0801 |0.771 | 1 | 2 | 2 | 1 1 115|617
AQH 0.805|0.799 | 0.784 | 0.761 | 0.761 | 0.748 | 0.691 | 0687 |{0.763| 5 | 5 | 4 | 6 | 8 | 9 | 8 | 9 | 8
AQA 0.637 | 0.639 | 0.605 | 0.636 | 0.674 | 0.553 | 0.608 | 0.661 [0.680| 10| 9 | 13| 13| 12| 151213 | 9
QAEZ|O} 0551|0560 | 0.563 1 0.580 | 0.635 | 0.603 | 0.592 | 0.662 | 0.675| 14 | 15| 15| 15| 15| 13| 13| 12| 10
Ea=1 o 0.665 | 0.615|0.640 | 0.715|0.661 | 0.699 | 0.660 | 0.669 | 0.664| 8 |12 | 10| 10| 13| 10| 9 [ 11| 11
U= 0.625 | 0.620 | 0.623 | 0.628 | 0.648 | 0.579 | 0.533 | 0.618 | 0.643 | 11 | 11 | 11| 14| 14|14 |15 |14 | 12
Hgzt=e 0.750 | 0.717 1 0.739 | 0.747 | 0.724 | 0.678 | 0.628 | 0.685 | 0642 | 6 | 6 | 6 | 7 | 11|11 |11 ] 10| 13
oA 09190936 | 0.750 | 0.708 | 0.863 | 0.768 | 0.647 | 0.696 | 0601 | 3 | 3 | 6 | 12| 6 | 7 |10| 8 | 14
HZ 0.34410.399 | 0.433 | 0.470 | 0.411 | 0.420 | 0.366 | 0.500 | 0.522 | 22 | 20 | 20 | 20| 20 | 20 | 20 | 16 | 15
270 0.47110.474 1 0.509 | 0.5626 | 0.601 | 0.486 | 0.447 | 0.470 | 0501 | 17 | 17 | 17 | 18| 16 | 16 | 16 | 17 | 16
2ME23 0.053|0.081|0.161 | 0.244 | 0.323 | 0.372 [ 0.349 | 0.430 | 0.496 | 27 | 28 | 26 | 25| 23 | 21 | 21 | 18 | 17
2NN 0.407 | 0.421 0,597 1 0.721 |1 0.728 | 0.661 | 0.590 | 0523 | 0.426 | 19 | 19 | 14| 9 | 10| 12| 14| 15| 18
E= 0.589 | 0.558 | 0.561 | 0.577 | 0.530 |0.474 | 0.397 | 0.396 | 0.394 | 13 | 16 | 16 | 16| 18 | 17 |17 | 19 | 19
0|=2|0} 0.504 | 0.567 | 0.508 | 0.572 | 0.541 |0.455 {0.388 | 0.369 | 0.380 | 165 | 14 | 18 | 17|17 19|19 |20 | 20
FHLtct 0.453 | 0.466 | 0.449 | 0.502 | 0.493 | 0.458 | 0.396 | 0.348 | 0.358 | 18 | 18 | 19| 19| 19| 18 | 18 | 21 | 21
FARNE 0.366 | 0.368 | 0.379 | 0.326 | 0.406 | 0.330 | 0.271 | 0.321 |0.327 | 20 | 22 | 22 | 23 | 21 | 23 | 23 | 22 | 22
oryse 0.256 | 0.301 | 0.300 | 0.365 | 0.396 | 0.356 | 0.288 | 0.281 | 0269 | 23 | 23 | 23 | 21|22 |22 |22 | 23 | 23
I=ES 0.350 | 0.386 | 0.392 | 0.346 | 0.306 | 0.301 [ 0.247 | 0.268 | 0.252 | 21 | 21 | 21 | 22 | 24 | 24 | 24 | 24 | 24
S 2H}7|0} 0.12410.101 | 0.104 1 0.033 | 0.076 | 0.149 | 0.127 | 0.258 | 0.199 | 26 | 27 | 28 | 28 | 28 | 27 | 25 | 25 | 25
a2|A 0127 10.160 | 0.174 1 0.139 | 0.291 | 0.152 | 0.041 | 0.071 | 0.156 | 25 | 25 | 25 | 27 | 25 | 26 | 28 | 27 | 26
Z&c 0.1400.1180.158 [ 0.163 | 0.110 |0.120 [ 0.112 | 0,078 | 0.132 | 24 | 26 | 27 | 26 | 27 | 28 | 26 | 26 | 27
S7t2) 0.262 {0219 1 0.261 | 0.276 | 0.261 | 0.103 | 0.058 | 0.119 24 124 | 24|26 | 25|27 |28 |28
HIA| T 0.000 | 0.000 | 0.000 | 0.000 | 0.000 |0.000 | 0.000 | 0.000|0.000| 28 |29 |29 |29|29 |29 |29 |29 |29
E{7|
OECD Tat 05140516 | 0.520 | 0.548 | 0.578 | 0.547 | 0.495 | 0.528 | 0.534




(& 2-46) GDP CHH| M2 HTIHLh0f A

(] : %)
=V 2004 2005 2006 2007 2008 2009 2010 2011 2012
il 101 1.03 1.02 097 098 1.12 1.16 1.10 1.07
Bt=) 074 0.78 0.80 0383 091 1.00 102 1.06 1.06
ofo|aate 0.88 0.88 087 085 092 1.09 1.03 102 1.05
=h[E] 071 0.71 072 0.79 085 098 097 1.02 1.03
prg=i=bl, 061 0.70 0.69 0.75 091 1.04 1.02 102 094
=) 077 0.77 0.76 0.77 0.80 091 092 0.91 0.90
iE= 1.03 1.00 098 098 098 1.14 1.00 093 0.88
AQH 0.87 0.86 084 0.79 0.80 091 0883 0.83 0.88
AQA2) 0.73 0.69 0.73 081 081
QAER|0 0.66 0.66 0.66 0.65 0.70 0.78 0.80 081 081
29| 0.75 0.71 072 0.75 0.72 087 086 082 0.80
U= 0.72 0.71 0.71 068 0.71 0.76 0.74 0.77 078
Hgze 082 0.79 0.80 0.78 0.77 0.85 083 083 078
oA 096 097 081 0.75 088 093 0.84 0.84 074
o] 0.48 053 055 056 053 0.61 0.60 0.67 068
7 |of 059 059 061 0.60 0.68 067 067 0.65 0.66
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= 06 | 07 |08 | 09 | 10 | 11 | 12 | 13 | 14 |’06 °07 08|09 |'10 (11|12 1314
U=t 1.000 | 1.000 | 1.000 | 1,000 | 1.000 | 1.000 | 1.000 [ 1.000| 1.000| 1 | 1| 1 | 1 | 1 [ 1|1 [ 1|1
ot 0127 [0.127 | 0,102 |0.121 [ 0,163 | 0.221 | 0.385 [0579 (0579 | 6 | 6 [ 6 | 5| 4 |3 |2 |2 | 2
gl 7)o 0.120[0.135| 0,072 | 0.107 | 0.119 {0,183 | 0,141 {0249 | 0249| 7 | 5 | 9 |8 | 6 | 5| 6 | 3 | 3
= IUN 0.178 | 0.214 0,178 | 0.202 | 0.168 | 0.221 | 0.264 | 0237 [0237 | 3 | 3 | 3 [ 3|3 | 4 |3 | 4 | 4
o= 0.246 | 0.314| 0,267 |0.294 | 0241 {0,222 | 0252 (0228 [0228| 2 | 2 |2 |2 | 2| 2| 4|5 |5
AQA 0.069 | 0.088 | 0,070 | 0.085 | 0.158 | 0.146 | 0,143 [0.146 | 0.146 | 12| 9 [ 10| 9 | 5|6 |5 |6 | 6
=Y 0158 0.172| 0,124 |0.108 | 0.100 | 0,097 | 0,092 [0.113[0.113| 5 | 4 | 6 | 7 |9 |7 |7 |7 |7
ofdH= 0.032 {0,038 | 0,059 | 0.136 | 0.000 | 0.052 | 0.025 [0.097 [ 0.097 | 17 | 14 | 12| 4 | 20| 10| 16| 8 | 8
JE=ILE 0088 0,097 | 0,138 |0.116 | 0.104 | 0,087 | 0,049 [0.069 [0.069| 9 | 8 | 4 | 6 | 8 | 9 |11|9 |9
Hgate 0.102 | 0.047 | 0.074 | 0,008 | 0.118 | 0.094 | 0.074 {0,056 [0.056 | 8 | 12| 7 [22| 7 | 8 | 8 | 10 10
=ES 0.083 | 0.104 | 0,066 | 0.079 | 0.047 | 0,044 | 0,043 [0.055 [ 0.085 | 11| 7 [ 1] 10| 10| 12|14 | 11| 11
g= 0,037 [0.034 | 0,041 | 0,029 | 0.027 | 0,026 | 0,045 [ 0,045 [ 0,045 | 15 | 16 | 15| 16 | 15[ 15| 13 | 12| 12
FHLtC 0.087 |0.085 | 0,043 | 0.051 | 0.043 | 0,046 | 0.048 [ 0.042 [ 0.042 | 10 | 10 | 14| 12 | 12 [ 11|12 |13 13
QAEZ|O}  |0.068 |0.016 (0073|0055 |0.023 [0.000 |0.069 |0.040 |0.040 | 13|20 | 8 | 11| 16| 23| 9 | 14| 14
mats 0.009 | 0.034 | 0.027 | 0,033 | 0.019 | 0.009 | 0.017 | 0.037 [0.037 | 21 | 17 [ 17 | 14| 18 |22 | 17| 15| 15
AQc 0022 [0.016|0.013 | 0.019 | 0.000 | 0.016 | 0.007 [0.030 [ 0.030 | 19 | 19 [ 22| 18 | 20 |20 | 21 | 16| 16
=290 0051 [0.042 | 0,016 | 0.035 | 0.047 | 0,028 | 0.014 [0.027 [ 0.027 | 14| 13|20 | 13| 11 | 14| 18 | 17 | 17
A0l 0.024 0,037 | 0,025 | 0.014 | 0.036 | 0,025 | 0,040 [0.023 [ 0.023| 18 | 15| 18| 21 | 13| 16| 15 | 18| 18
FEUME 0.171 | 0.069 | 0.055 | 0,030 | 0.027 | 0.000 | 0.000 | 0.022 [0.022 | 4 | 11 [ 13| 15| 14|23 |22 |19 | 19
== 0.000 | 0.082 | 0,037 | 0.029 | 0,022 { 0,030 | 0.010 [0.019[0.019| 22 | 18 | 16| 17 | 17 | 13|19 | 20 | 20
ez 0.000 | 0.000 | 0,000 | 0.015 | 0.000 | 0.017 | 0.000 [0.015 [ 0.015| 22 | 21 [ 23| 20 | 20 | 19| 22 | 21 | 21
A= 0.000 | 0.000 | 0.014 | 0,015 | 0.000 | 0.013|0.061 {0,012 [0.012 | 22 | 21 | 21 | 19| 20 | 21 | 10| 22 | 22
e\E] 0.009 | 0.000 | 0,020 | 0.000 | 0.000 | 0,000 | 0.008 [ 0.008 [ 0.008 | 20 | 21 | 19| 23 | 20 | 23| 20 | 23 | 23
g2 0.000 | 0.000 | 0,000 | 0.000 | 0.006 | 0.018 | 0.000 | 0.006 | 0.006 | 22 | 21 | 23| 23 | 19 | 18| 22 | 24 | 24
mEIEN 0.000 | 0.000 | 0,000 | 0.000 | 0.000 | 0,000 | 0.000 [0.000 [ 0.000 | 22 | 21 | 23| 23| 20 | 23| 22 | 25 | 25
&t 0.000 | 0,000 | 0,000 | 0.000 | 0.000 | 0.018 | 0.000 | 0.000 {0,000 | 22 | 21 [ 23 | 23 | 20 | 17 | 22 | 25| 25
oo|&2t= 0,000 | 0.000 | 0,000 | 0.000 | 0.000 | 0.000 | 0.000 | 0,000 [0.000 | 22 | 21 | 23 | 23 | 20 | 23 | 22 | 25 | 25
2M=23 0,000 0.000 | 0,000 | 0.000 |0.000 | 0,000 | 0,000 |0.000|0.000| 22 | 21 [ 23| 23|20 | 23|22 | 25|25
£2417|0F | 0.033 0,000 | 0.000 | 0.000 | 0,000 [ 0.000 | 0,000 | 0.000 | 0.000 | 16 | 21 | 23 [ 23|20 | 23 | 22 | 25| 25
E7| 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 [0.000 [ 0.000 | 22 | 21 | 23| 23| 20 | 23 | 22 | 25 | 25
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=Y 0000504 | 0000479 | 0000499 | 0000469 | 0000422 | 0000602 | 0000735 | 0000646
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YR sl Al 3 7IUNY S 29|
= 06 | 07 | 08 | 09 | 10 | 11 | 12 | 13 | 14 06 '07|°08|°09|'10 11 12|13 |'14
E7| 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | 0.942 {0946 1000 1 | 1t | 1 | 1 [ 1 | 1 | 3| 2|1
=< 0.390 [ 0.388 | 0.616 | 0.605 | 0.633 | 0.804 | 0.855 08200980 | 9 |10 | 3 | 3 |2 |3 |4 | 4|2
712 0.384 1 0.464 | 0.550 | 0.645 | 0.617 [0.914 | 1.000 0929|0936 | 10| 5 | 4 |2 | 3 |2 | 1|3 ]3

FEYE 0.625|0.589 | 0.657 | 0.603 | 0.540 | 0.745 | 0.628 | 0633|0775 2 | 2 | 2 | 4 | &5 | 4| 6 | 5 | 4

o] 0.557 | 0.472 | 0517 | 0.509 | 0.489 | 0.687 | 0.692 |0.632 |10.745| 3 | 4 | 5| 5|7 |6 |5 |6 |5

qlge= 0.428 | 0.409 | 0.469 | 0.421 | 0.447 | 0.622 | 0.996 | 1.000 | 0.702| 7 | 9 | 7 | 9 | 9 | 8| 2 | 1| 6

mE=IES 0.255{0.250 | 0.305 | 0.262 | 0.260 | 0.345 | 0.428 | 0.433 | 0.618 | 17 | 17 | 16 | 16 | 15 | 16| 15| 14| 7

23 0.370{0.418 | 0.433 | 0.363 | 0.364 | 0.419 | 0.472 | 0.477 | 0596 | 12 | 8 |10 |12 |12 |14 |13 |10| 8

ofoj&EIE 0.44510.424 | 0.453 | 0.470 | 0.531 | 0.733 | 0.540 | 0645|0584 | 6 | 7 | 8 | 7 | 6 | 6 |10 7 | 9

ES 0.318]0.339 | 0.330 | 0.293 | 0.331 | 0.450 | 0.513 | 0.507 | 0.567 | 14 | 12 | 13 | 14| 13 | 11| 11| 9 | 10

Z247|0f 0.372]0.292 | 0.234 | 0.432 | 0.486 | 0.629 | 0.622 | 0.529 | 0.561 | 11 | 15|18 | 8 | 8 | 7 | 7 | 8 | 11

m2te 0.4100.379 | 0.409 | 0.369 | 0.397 [ 0.584 | 0.588 | 0.456 | 0531 | 8 | 11 [ 11| 11[10| 9 | 9 [12] 12

FHLfCt 0.3410.335 | 0.349 | 0.297 [ 0,323 [ 0.431 | 0.485 | 0.437 | 0515 | 13 | 13 [ 12| 13 | 14|13 | 12 [ 13| 13

ot 0.449 [ 0.435 | 0.452 | 0.379 | 0.390 | 0.448 [ 0.448 | 0.466 [0.497 | 5 | 6 | 9 | 10| 11 [ 12 14 | 11| 14

=290] 0.3140.304 | 0.309 | 0.266 | 0,227 [ 0.333 | 0.380 | 0.385 | 0.410 | 15 | 14 [ 14 | 15 | 17 | 17 | 16 | 15| 15

¥z 0.282 | 0.268 | 0.277 | 0.224 [ 0,211 [ 0,290 | 0.294 | 0.306 | 0.363 | 16 | 16 | 16 | 17 | 18 | 18 | 18 | 17| 16
QAEZ|O}  |0.174(0.198|0.203 | 0.193 | 0.247 | 0.360 | 0.328 | 0.333|0.323 | 20 | 19 | 19 | 18 | 16 | 15 | 17 | 16| 17 111
Z2to 0521|0508 | 0502 | 0.498 | 0,603 | 0.254 | 0.284 |0.273{0.319| 4 | 3 | 6 | 6 | 4 | 19|19 |19 18

oA 0.1540.153|0.181 | 0.156 | 0,104 [ 0.196 | 0.241 |0.259 | 0.290 | 21 | 21 [ 21 | 19| 21 | 21 | 21 | 20| 19 e,
2ME23 0.135 [ 0.097 | 0.046 | 0.095 | 0.091 | 0.050 | 0.252 22 |22 23|24 | 27|27 |20 E
A 0.197 | 0.197 | 0.182 | 0.142 | 0,160 | 0.244 | 0.272 | 0.277 | 0.245| 19 | 20 | 20 | 21 | 19| 20 | 20 | 18| 21 J%JI
diot= 0,058 [ 0.087 | 0.062 | 0.021 | 0.000 | 0.035 [ 0.176 | 0.152 | 0,172 | 25 | 23 | 25 | 26 | 29 | 28 | 22 | 22 | 22 nﬂ%
o|tzlot 0.034 [ 0.025 | 0.021 | 0.066 | 0.098 | 0.100 | 0.088 27 (25| 25| 26| 26|24 | 23 #i;l
o= 0.0750.084 | 0.086 | 0.055 [ 0,054 [ 0.115 | 0.152 | 0.117 | 0.076 | 23 | 24 | 24 | 23 | 22 | 23 | 23 | 23 | 24 éfﬂg
4= 0.060 | 0.046 | 0.047 | 0.013 | 0.012 | 0.040 | 0.058 | 0.067 | 0.075 | 24 | 26 | 26 | 28 | 27 | 27 | 28 | 26 | 25 (-)\‘E
H 2 0.214 [0.244]0.239 | 0.145 | 0.115 | 0.150 [ 0.130 | 0.154 | 0.046 | 18 | 18 | 17 | 20| 20 | 22 | 24 | 21 | 26 T@

ofY= 0.054{0.091 | 0.103 | 0.042 | 0.031 | 0.087 | 0.122 | 0.094 | 0.041 | 26 | 22 | 23 | 24 | 24 | 25 | 25 | 25 | 27

n=EZ 0.090 | 0.056 | 0.013 | 0.000 | 0.008 | 0.000 | 0.000 | 0.012 |0.007 | 22 | 25 | 28 | 29 | 28 | 29 | 29 | 28 | 28

LNE 0.000 | 0.000 | 0.000 | 0.019 | 0.016 | 0.484 | 0.590 | 0.000 | 0.000 | 27 | 27 | 29 | 27 | 26 | 10 | 8 | 29 | 29

OECD B+ 0.316 | 0.312 | 0.315 | 0.295 | 0.299 | 0.399 | 0.428 | 0.393 | 0.425
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= 7t 2003 2004 2005 2006 2007 2008 2009 2010 2011
Ef7| 18.47 1973 1902 20.20 1987 15.11 1334 1334 12.06
=y 808 834 12.18 1293 1331 12.45 1221 11.70 11.85
8712 7.7 9.76 10.99 1368 1301 13.94 1410 13.13 11.39
SAC 12.08 1290 11.64 9.24 9.71
v 1093 9.1 10.41 11.16 10.71 10.85 10.08 9.24 9.40
Hgas 873 956 996 14.05 895
LIPS 5.77 6.63 807
S 890 8.49 7.21 7.85
ofo|&RE 9.02 9.27 10.46 11.47 11.47 8.10 7.72
ATQl 6.86 7.43 7.07 7.20 7.89 7.62 7.74 7.60 7.54
S2H7(0t 7.7 6.55 535 9.74 1067 1005 9.16 7.89 7.48
= 842 817 848 859 9.08 9.45 872 6.94 7.17
FHLiCH 7.24 7.35 7.41 7.27 7.75 7.36 7.38 6.69 6.99
stz 9.07 9.21 9.26 879 894 7.60 6.89 7.07 681
290 6.78 6.70 6.03 6.00 590
= 6.23 6.11 6.13 593 575 5.45 488 497 5.42
QAEZ|of 481 536 6.40 533 4,99
=Zac 10.31 1058 10.14 1097 1276 495 475 454 4,96
oA 4,06 397 442 467 383 416 418 436 4,65
ZM=23 359 280 223 162 4,26
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0|2 0278 | 0.137 | 0,028 | 0.025 | 0.236 | 0,080 | 0.161 [0.078 [ 0.452 | 20 | 25 | 27 | 24 | 17 | 16|19 | 18| 15
ENE] 0280 [0.171 0,019 | 0.020 | 0.220 | 0,076 | 0.163 [ 0.052 [ 0.451 | 19 | 20 | 28 | 25 | 25 | 19| 18 | 24 | 16
= 0.347 | 0.277 | 0,095 | 0.189 | 0.293 | 0,116 {0,165 {0,133 [0.449 | 10| 7 | 9 | 7 | 5 | 9 | 13|13 17
£24p70} 0355 0.196|0.092 | 0.039 | 0.248 | 0,042 | 0,159 [0.044 | 0.443| 8 | 15|10 |20 | 14| 29|20 | 26 | 18
=Y 0.2010.183 | 0.055 | 0,062 | 0.215 | 0.073|0.180 | 0.072 [ 0.436 | 29 | 19 | 17 | 15| 27 [ 20 | 8 | 21 | 19
oA 0.291]0.252 | 0,078 | 0.092 | 0.270 | 0,112 0,165 [ 0.063 [ 0.428 | 15| 9 | 14| 13| 10| 11|15 |23 |20
=Kl 0.2130.153 | 0,033 | 0,018 | 0.223 | 0.053 | 0.146 | 0.036 [ 0.424 | 27 | 24 | 25 | 26 | 22 | 25 | 24 | 27 | 21
U= 0.2120.135 | 0.000 | 0,000 | 0.224 | 0.054 | 0.142 | 0.024 [ 0.421 | 28 | 26 | 30 | 30 | 21 | 24 | 25 | 28 | 22
A9 0.378]0.204 | 0.110 | 0.137 | 0.287 [ 0,052 | 0.179 [ 0.094 [ 0.411| 5 | 14| 7 | 10| 6 [26| 9 | 16|23
=g 0317 ]0.184| 0,081 | 0.054 | 0229 {0,096 | 0.170 [0.113[0.405 | 12 | 18 | 13| 16| 19 | 14| 11 | 14 | 24
Hgzt= 0.377 | 0.477 | 0128 | 0.235 | 0.276 | 0.185 | 0,197 | 0.154[0.403 | 6 | 3 | 6 | 4 | 9 | 7 | 6 | 12|25
FEUME 0237 [0.121 | 0,038 | 0.036 | 0.229 | 0,000 | 0.141 {0,079 | 0.396 | 24 | 28 | 21 | 22 | 18 [ 30| 26 | 17 | 26
agjA 0.224]0.133| 0,029 | 0.002 | 0.213 0,048 | 0139 [ 0,002 [ 0.395 | 25 | 27 | 26 | 29 | 28 | 28 | 27 | 29 | 27
JEEILE 0.240 | 0.169 | 0,037 | 0.046 | 0.217 { 0,058 | 0.150 [ 0.075 | 0.382 | 23 | 21 | 23| 19| 26 | 23| 23 | 20 | 28
Z710] 0679 [0.370 | 0.291 | 0.415 | 1.000 | 0.279 | 0.306 [1.000 [0.143 | 3 | 4 | 4 | 3 | 1 | 4| 4 | 1|29
ofo|&=te | 0.760 | 1.000 | 0,613 [ 0.946 | 0.000 |0.370 {0,000 |0.173[0.000| 2 | 1 | 2 | 2 |30| 3 |30| 7 |30
OECD E# | 0.334 0245|0127 | 0.150 [ 0.277 [ 0.149 | 0.201 | 0.166 | 0.469




(¥ 2-71) GDP CHH| (SHQIEXH2IZOIEX] HIZ

(] : %)

= 7t 2004 2005 2006 2007 2008 2009 2010 2011 2012
oY= 401 -857 439 17.67 094 23.21 31.12 991 26.99
8712 552 897 .68 6.66 554 307 263 7.99 20.35
2223 35.61 3987 91.64 87.88 41.89 55.39 10855 3854 1305
AQA 7.27 1301 29,52 1853 11,53 10.87 22.33 11.28 875
AQEl 951 1062 1358 1464 1382 895 4.43 800 865
w290 302 851 9.18 469 6.74 9.45 957 825 7.29
JHLtct 421 457 7.95 12.44 9.12 455 391 5.16 5.41
2AEZ|0}f 385 7.19 6.65 1872 875 503 2.87 7.82 533
XA 525 895 4,67 6.69 478 197 369 092 499
n2gYy 507 315 895 369 2.93 150 -2.12 10.96 451
mete 092 458 5.99 7.99 2.99 2.67 7.40 2.88 4,49
=ES 693 -8.38 5.66 541 7.29 476 458 411 418
ot 284 2.60 2.30 2.95 331 3.17 372 354 355
otz -8,51 11.28 407 10.42 439 3.30 -373 7.81 343
o= 376 114 352 439 434 320 339 412 3.41
EWE 383 3.60 274 388 2.68 2.98 363 305 336
g= 6.82 1111 963 18.39 10.09 5.24 392 6.41 329
S24}7)of 7.14 538 9.34 558 553 1.03 311 2.75 301
=g 0.38 4.46 6.01 7.55 223 2.79 581 387 271
126 oA 435 935 8.10 10.09 7.73 501 383 353 239
Ef7| 091 230 3.98 373 305 1.66 1.44 2.39 2.19
U= 083 1.06 1.00 2.21 314 172 1.00 1.91 209
AT 817 591 1093 1397 950 161 561 479 1.64
s 5.46 451 833 6.82 364 409 4.49 559 1.39
Hgate 812 2538 1257 22.37 835 0.18 785 7.28 1.30
SAMCS 194 0.00 4.42 528 364 -1.35 085 417 099
REIPN 137 087 359 2.41 2.02 1.40 0.64 1.01 097
oletz|of 2.08 3.46 434 6.16 2.43 1.96 204 401 0.40

&7 o 21.46 1775 27.41 37.77 81.63 1447 21.55 4208 -9.88

ofolazt= 25,04 62.55 5653 8323 | -1954 1962 | -1681 8.06 ~16.05
=L 8.79 7.45 6.12 873 12.91 11.73 10.50 16.77 16.23

o AEL|O} 10.19 2561 17.28 20.33 11.96 17.45 9.15 —4.94 11.04
olAat 5.69 558 2037 995 8.49 309 6.11 6.23 459

Z24Ljof 407 3.44 387 7.14 6.25 -0.80 031 222 -0.73

% Atz @ : OECD, International Direct Investment Statistics 2014; OECD, Main Science and Technology Indicators 20141,
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(B 2-77) 719 A7HeH| & HEM HIS(EES A)
7|1 AL & FEAHH HIS =9
= 06 | 07 |08 | 09 | 10 | 11 | 12 | 13 | 14 |’06 °07 08|09 |'10 (11|12 1314
M2 05130531 0619|0774 0935 |0.834 0997 0928 [1.000| 4 | 3 |2 [ 2| 2|2 |2 |2 |1
8712 0.2410.113|0.108 | 0.373 | 0.560 | 0.452 | 0.900 | 0.838 [0.920 | 11| 21 |23 [ 10| 9 [ 12| 3 | 3 | 2
AmQl 0.4710.435 | 0,487 | 0,677 | 1.000 | 1.000 | 1.000 | 1.000 [0910| 5 | 5 | 4 [ 3| 1 [ 1|1 |1 ]3
QAEZ|O}  |0.204 0202|0207 | 0.433 | 0,603 | 0551 |0.630 | 0.652 0834 | 14| 11|13 8| 4|7 |8 |64
Eac 0.669 | 0.609 | 0.492 | 0.571 |0.695 |0.6340.710(0828(0793| 2 | 2 | 3 | 4|3 |5 |7 | 4|5
FAUCE 0.416 | 0.339 | 0,402 | 0.526 | 0.497 | 0.456 | 0.474 (0490 [0.764| 7 | 8 | 5 | 5 | 10| 11|11 12| 6
o= 0.362 | 0.329 | 0.334 | 0.444 | 0576 | 0.683 | 0.813(0.732(0655| 9 | 9 | 9 | 7|6 | 4|6 | 5|7
£24p7|0F | 1.000 | 1.000 | 1.000 | 1.000 [ 0,602 |0.712 | 0.396 | 0.637 [0635| 1 | 1 | 1 [ 1|5 |3 [13|7 |8
=290 03180260 | 0.262 | 0.353 | 0.429 | 0.473 | 0.545 | 0,585 [ 0593 | 10| 10| 11 [ 12| 1110 9 | 9 | 9
= 0.398 | 0.347 | 0.281 | 0.330 | 0.375 | 0.333 | 0.445 [ 0509 [ 0.561 | 8 | 7 | 10| 14| 13| 13|12 11|10
£ 0.145 [ 0,116 | 0.224 | 0.389 | 0.563 | 0.508 | 0.882 [0.617 [0.537 | 19| 19| 12| 9 | 8 | 9| 4 | 8 | 11
mEIEN 0.145 0,122 | 0176 | 0.234 | 0.239 | 0.225 | 0.256 | 0.293 [ 0.477 | 18 | 18 | 15| 16| 19 [ 19| 19| 19 | 12
WA 0.060 | 0.140 | 0.386 | 0.350 | 0.421 | 0535 | 0.839 | 0.434 [ 0.462 | 25 | 15| 6 | 13| 12| 8 | 5 | 14|13
1PN 0.4710.396 | 0.350 | 0.518 | 0570 | 0611|0509 | 0.513 0447 | 6 | 6 | 8 | 6 | 7 | 6 | 10|10 14
O0|SZIE 0120 [0.102 | 0.066 | 0.165 | 0.284 | 0.264 | 0.000 | 0.000 | 0.438 | 21 | 22 | 26 | 22 | 18 | 18| 30| 30 | 15
EEI 0.616 | 0.487 | 0.384 | 0.357 | 0.362 | 0.293 | 0.360 | 0.337 [0.399 | 3 | 4 | 7 | 11|14 | 15| 16|17 16
Z710f 0.1930.183|0.197 | 0.236 | 0.300 | 0.288 | 0.367 | 0.452 | 0.354 | 15| 12 | 14 | 15| 16| 16| 15 | 13| 17
Bt 0.190 | 0.135 | 0,136 | 0.188 | 0.337 | 0293 | 0.381 | 0.388 [ 0.342 | 16 | 16 | 17 | 19| 15 | 14 | 14| 16 | 18
orya= 0074|0064 | 0.117 | 0.193 | 0.288 | 0.268 | 0.222 {0,230 [ 0.332 | 24 | 25 | 21 | 18| 17 [ 17 | 21| 22 | 19
AQdl 0217|0179 0,132 [ 0.177 | 0.231 | 0217 | 0.322 | 0.333 [ 0.272 | 13| 13| 18 |20 | 20 [ 20 | 17 | 18 | 20
=y 022901790129 | 0.176 | 0.224 | 0211 | 0,240 | 0.248 [ 0.225 | 12| 14 [ 19 | 21 | 21 [ 21 | 20 | 20 | 21
zagy 0.1880.1320.118 | 0.135 | 0.156 | 0.138 | 0.305 | 0.240 [ 0.203 | 17 | 17 | 20 | 25 | 24 [ 23 | 18 | 21 | 22
El=Ris 0.093 | 0.080 | 0.089 | 0.122 | 0.078 | 0.080 | 0.196 | 0.429 [ 0.194 | 22 | 24 | 25 | 26 | 27 | 27 | 22 | 15 | 23
FHLtct 0.059 | 0.036 | 0.058 | 0,076 | 0.066 | 0.084 | 0.141 {0,208 [ 0.184 | 26 | 28 | 27 | 27 | 28 | 26 | 24 | 23 | 24
EM=23 0055 (0050|0157 [0.210 0,194 [0.184 | 0,167 |0.173 | 0.150 | 27 | 26 | 16 | 17 | 22| 22 | 23 | 24 | 25
m2te 0.092 {0,094 | 0,102 | 0.137 | 0.156 | 0,095 | 0.120 | 0.131 [ 0,123 | 23 | 23 | 24 | 24 | 23 | 24 | 26 | 26 | 26
Eh[=! 0.047 | 0.043 | 0,050 | 0,071 | 0.089 | 0.089 | 0.127 | 0,147 [ 0.122 | 28 | 27 | 28 | 28 | 26 | 25 | 25 | 25 | 27
RS 0.126 | 01150112 [ 0.144 | 0.113 | 0,065 | 0.091 | 0.079 [ 0.056 | 20 | 20 | 22 | 23 | 25 | 28 | 27 | 27 | 28
AQA 0.043 {0,010 0,014 | 0.025 | 0.028 | 0,043 | 0,071 | 0.074 [ 0,041 | 29 | 29 | 29 | 29 | 29 | 29 | 28 | 28 | 29
Uz 0.000 | 0.000 | 0.000 | 0,000 | 0.000 | 0.000 | 0.042 { 0,043 [ 0.000 | 30 | 30 | 30 | 30 | 30 | 30 | 29 | 29 | 30
OECD HZ | 0.258 |0.228|0.240 | 0.313 | 0.366 | 0.354 | 0.418 | 0.419 | 0.434




(2 2-78) 7| ALl 35 HEHA HIS

(S : %)
= 2y 2003 2004 2005 2006 2007 2008 2009 2010 2011
X2 11.99 1491 16.99 16.35 15.34 15.08 17.09 15.42 15.70
81712 6.36 415 392 841 9.62 859 15.47 1397 1453
AHQI 11.13 12.46 13.61 14,44 16.34 17.90 17.14 16.59 14,38
QAER[O} 6.44 9.60 10.28 10.97 1327
Zate 15.20 16.93 1373 12.33 1168 12.30 1381 12,67
CeSE= 098 11.45 867 837 12,24
o= 887 9.73 9.69 981 9.87 12,51 14,01 12,26 10.65
s24t7)o} 22,05 27.00 26,74 2084 10.27 13.00 7.07 10.74 10.36
=290 7.96 7.86 802 7.63 894 955 9.90 974
o 062 10.18 834 7.56 6.81 6.58 7.89 867 9.26
SH] 438 424 6.89 872 9.68 954 15.16 10.42 891
mEIES 4.40 5.64 473 804
EWEL 264 486 11.02 7.96 750 1001 14.46 7.47 7.81
p=I0N 112 11.45 10.11 11.28 9.78 11.30 896 873 7.60
ofolazte 388 2.83 429 5.41 5.41 047 7.47
E=E 14.11 1378 1097 808 6.60 5.89 6.47 5.89 6.90
H710f 5.38 597 6.20 5.70 5.66 582 6.58 775 6.24
o= 532 474 464 474 6.22 590 6.82 6.73 6.06
RIE= 293 2.89 414 484 5.48 5.47 417 417 592
AQ el 587 453 460 584 5.04
=g 6.11 5.87 4.46 451 450 450 4.47 4.47 435 137
n2gzt 5.28 465 418 368 3.46 3.26 555 433 403
Hgee 331 3.42 2.27 373 7.37 389 R
FHLtct 262 218 2.64 252 2.09 2.34 282 383 374 E
ERCEEL 253 5,17 404 325 325 &
mate 3.29 3.66 377 373 3.46 254 2.47 258 2.85 %
==t 2.36 2.42 2.44 2.44 258 284 284 ﬂﬂﬁ
CES 399 422 403 386 2.81 2.02 1.99 174 187 E
AQIA2) 150 1.65 1.65 gﬁ
U= 1.39 125 1.15 1.01 1.08 0.92 117 117 1.05 ﬁ
Ay 2,04 227 18,27 24,66 6.98 B
o AEL|O} 559 413 6.94 762 9.32 7.14 11.01 11.14 6.80
ojAetd 9.89 6.52 479 4,94 452 437 455 4.1 307
240} 12.82 448 6.98 5.65 7.96 565 177 15.65 15,08
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(& 2-79) XMLH ESHE(EES 2
RARAH HSHE =9
= 7t
06 | 07 |08 | 09 | 10 | 11 | 12 | 13 | 14 |’06 °07 08|09 |'10 (11|12 1314
AQA 1.000 | 1.000 | 1.000 | 1.000 | 1.000 [ 1.000 | 1.000 | 1.000 | 1.000 | 1t | 1 [ 1 [ 1| 1 | 1 [ 1| 1|1
=9 0907 | 0.904 | 0.900 | 0.904 [ 0914 | 0928 | 0.924 (0929 (0902| 7 | 3 | 3 |3 |5 |5 |2 |3 |2
Eh[=! 091109140944 | 0,963 | 0.945 | 0953 0.906 (09350901 | 5 | 2 | 2 |2 | 2|3 |4 | 2|3
o= 0925|0855 | 0.876 | 0,845 | 0.885 | 0.877 | 0889|0898 (0887 | 4 | 7 | 5|8 | 7 |7 |5 |4 | 4
m2te 0943|0880 | 0.805 | 0,830 | 0.915 |0.985|0.910(0875(0875| 3 | 6 |11 |9 | 4|2 |3 |55
AQJe 0.832 | 0.780 | 0.795 | 0.797 | 0.850 | 0.856 | 0.842 | 0.840 [0.829 | 10 | 11 |12 |11 | 9 |8 |7 | 6 | 6
El=Fi= 0.896 | 0.891 | 0.874 | 0,883 | 0.879 | 0.881|0.840(0831(0821| 9 | 5 |6 | 5|8 |6 |8 |7 |7
FHfct 09010826 | 0810 |0.789 | 0.822 |0.807 | 0.813(0.795[0.799| 8 | 10| 10| 12| 11|10 9 | 9| 8
A= 0575 0,583 | 0.638 | 0.659 | 0.715 | 0.744 | 0,773 [ 0.762 | 0.775| 20 | 20 | 19| 18| 18| 15| 12| 11| 9
=290 0.709 | 0.641 | 0.661 | 0.651 | 0.746 | 0.781 | 0.785 [ 0.798 [ 0.773 | 15| 18| 18| 19| 15| 13| 11| 8 | 10
JIE = 0.754 | 0.747 | 0.726 | 0.724 | 0.722 | 0.723 | 0.710 | 0.753 [ 0.773 | 13| 12 | 13 | 15| 17 | 18 | 16 | 13 | 11
oZA 0.719 | 0,666 | 0.697 | 0.688 | 0.764 | 0.725 | 0,726 [ 0.711 [ 0.765 | 14 | 16 | 15| 17 | 13| 17 | 15| 16| 12
CES 0908 | 0.834 | 0.834 | 0,818 | 0.830 | 0.827 | 0.791 {0,795 [0.755| 6 | 9 | 8 | 10| 10| 9 | 10|10 13
SMEE23 0662|0690 0.712[0.730|0.739 |0.761 | 0.755 | 0.759 | 0.734 | 17 | 15 | 14 [ 13| 16 | 14 [ 13| 12| 14
o= 0.629 | 0.661 | 0.693 | 0.727 | 0.760 | 0.800 [ 0.727 | 0.720 | 0.704 | 18 | 17 | 17 | 14 | 14| 11 | 14 | 15| 15
QAEROF 0962|0902 0.899 | 0.890 | 0.928 |0.949 |0.885(0.753|0685| 2 | 4 | 4 | 4 | 3 | 4|6 |14]16
0l0|S2E  |0.798|0.736 | 0.815|0872 | 0.908 | 0.787 | 0.685 | 0.663 | 0.657 | 12| 13| 9 | 6 | 6 | 12| 17| 17|17
F71of 0.698 | 0.711|0.694 | 0.693 | 0.672 | 0.674 | 0.658 | 0.652 | 0.642 | 16 | 14 | 16 | 16 | 19| 19 | 18 | 18| 18
FEHE 0.808 | 0,850 | 0,851 | 0.853 | 0.777 [ 0.734 | 0.657 |0.616 0617 | 11| 8 | 7 | 7 | 12|16 | 19|19 19
ey 0366 | 0.406 | 0.419 | 0.477 | 0.430 | 0.399 | 0.356 | 0.415 [ 0.401 | 23 | 23 | 22 | 21| 22 | 22 | 21| 20 | 20
&7tz 0.620 | 0.583 | 0.569 | 0.514 | 0.531 | 0.453 | 0.444 |0.381[0.397 | 19| 19| 20| 20 | 20 | 20 | 20 | 21 | 21
M2 0.477 | 0.459 | 0.408 | 0.354 | 0.372 | 0.366 | 0.346 | 0.369 [ 0.366 | 21 | 21 | 23 | 23| 23 | 23 | 22| 22 | 22
=Zac 0.000 | 0.000 | 0.069 | 0,131 | 0.192 | 0.146 | 0.186 | 0.309 [ 0.336 | 30 | 30 | 29 | 28 | 28 | 26 | 26 | 23 | 23
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E7| 0.1180.118 0,109 | 0.116 | 0.137 | 0.062 | 0.012 | 0,000 [ 0.000 | 28 | 28 | 28 | 29 | 29 | 28 | 29 | 29 | 30
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(% 2-80) X|ARHME HSHE

(9] 108 OHF)
= 7t 2004~2006 | 2005~2007 | 2006~2008|2007~+2009 | 2008~2010|2009~2011|2010~2012 2011~2013|2012~2014
AQA 843 851 850 851 854 863 8.88 892 9.06

=y 7.99 804 802 8.6 8.13 832 854 862 860
glot= 801 809 823 834 828 843 8.46 865 859
o= 808 7.80 7.90 778 8.00 810 8.39 849 853
mate 8.16 7.92 7.56 7.70 814 857 8.48 839 847
Al 7.64 7.43 7.52 755 7.83 801 8.19 8.24 825
ygze 7.94 797 7.90 7.96 797 8.12 8.18 8.21 822
JHLtct 7.96 7.66 7.59 751 7.70 7.80 8.06 805 811
o=z 6.44 6.46 6.76 6.89 7.19 753 7.88 791 800
=290 7.06 6.74 6.87 6.85 7.34 7.69 793 8.06 7.99
orYe= 727 727 718 7.20 722 7.44 761 787 7.99
oA 7.11 6.87 7.05 7.03 7.42 7.44 7.68 7.69 7.96
CES 7.99 7.70 7.70 7.65 774 7.89 7.96 8.05 7.91
2M=23 6.84 6.99 7.1 7.23 7.31 7.60 7.80 7.90 7.81
U=z 6.69 6.85 7.03 7.21 7.40 777 768 773 767
[=PN=FI; 825 803 802 7.99 820 8.41 837 7.87 7.58
oto|&2As) 7.48 721 7.61 7.90 811 7.71 750 7.49 7.45
&7 o 701 7.09 7.03 7.05 6.99 7.22 7.38 7.44 7.38
FAHHE 753 778 779 781 7.48 7.48 737 729 726
140 z=EY 5.46 559 5.70 6.02 584 6.04 6.06 6.43 6.24
&7t 6.64 6.46 6.43 6.20 6.32 6.27 6.44 6.29 6.22
2 598 585 5.65 543 557 590 6.01 6.24 6.08
=2 3.74 359 4,02 437 471 494 531 598 5.94
oletz|of 5.14 5.21 5.49 5.34 550 5.44 583 590 5.77
ATQl 596 563 5.72 575 6.01 6.14 6.00 581 5.70
ot 542 5.28 5.07 532 550 5.89 599 5.82 5.49
REIES 532 510 519 480 484 475 515 518 519
S24}7)of 5.29 486 483 486 480 456 450 4,66 490
EWEL 381 375 3.68 375 380 432 464 5.00 478
£ 430 417 421 430 445 458 455 4,66 435
A 553 5.06 484 509 5.26 5.37 527 5.70 578

o AEL|O}F 6.32 6.19 6.39 6.24 6.27 6.17 6.38 6.35 6.45
olAat 6.57 6.62 6.59 6.39 6.45 6.62 7.19 7.43 7.62
S21L{of 452 437 453 477 477 493 497 499 489
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= 7t 2005 2006 2007 2008 2009 2010 2011 2012 2013
AQA 25 274 315 334 354 372 389 40,1 430
diof= 248 319 344 36.1 36.2 372 376 388 402
E=EN= 25.1 317 335 352 370 38.1 39.0 398 40,1
m2A 15.4 206 253 285 316 337 358 375 388
3tz 259 207 309 323 339 355 36,6 372 380
=290] 214 26.7 304 324 338 345 353 363 36.4
o= 16.4 215 256 282 289 308 329 344 357
B 263 292 32.1 335 334 336 342 343 35.1
=9 129 17.9 236 272 209 314 328 337 346
&1 7|0f 19.1 232 25.4 275 289 307 32.1 333 344
] 153 212 270 29.4 313 332 329 324 335
Lttt 217 247 275 295 206 307 317 325 333
AQ 279 274 303 314 316 319 320 323 326
mate 224 27.1 306 299 287 2856 295 304 309
SERME 78 1.2 202 214 227 240 258 278 292
U= 184 208 222 237 258 268 274 284 288
hES 17.2 200 231 247 253 265 275 285 285
REEN 15 44 92 136 17.3 203 22.1 24,1 262
QAEZ|0} 142 17.3 195 207 220 24.1 246 250 260
ATl 116 153 17.9 200 212 228 237 244 256 147
=ES 98 187 238 231 240 238 243 250
ofgae 78 133 148 17.7 19.7 211 220 27 242 %
stz 6.5 1.9 13.7 167 18,7 205 22.1 229 241 ;
ey 1.1 135 143 153 178 19.9 212 25 238 ﬁ
o|r2lof 116 14.4 17.0 188 20.1 216 22.1 221 23 ruTg
2 6.9 108 9.4 109 12.9 145 15.7 16.4 17.0 %
Zate 25 76 109 104 126 130 147 156 156 OE
22H17)0} 34 56 87 96 116 128 137 14.7 155 i\‘f
E7| 23 40 68 82 920 08 104 106 1.2 E
NG 17 2.7 39 65 80 04 929 105 1.1
e 43 6.2 77 85 9.7 104 1.5 123 123
ol AE Lo} 135 187 19.2 215 231 240 245 255 265
olAzt 186 210 221 237 237 237 249 253 257
22H|L|o} 98 139 17.1 209 220 228 236 243 250

% A2 MU, World Telecommunication/ICT Indicators database 2014,




(% 2-85) Q17 100HZ THIY HzCHE JIQX} 4

= 7t 2007 2008 2009 2010 2011 2012
met= 90 713 843 87.0 106.4
U=t 787 87.6 103.3 1124
CES 555 796 957
otz 6.1 192 296 63.9 834 97.2
5t 738 886 97.7 102.9 105.1
AQ 65.3 69.9 838 97.3 104.9
o2 87 400 60.1 770 890
oz 369 432 62.7 770
=290 578 684 743 762 84.1
SR 386 53.1 65.2
ZMB23 50,0 66.6 806
ofolaRie 158 308 456 574 704
orYae 512 49,2 59.4 64.3
Aol 10.1 238 372 533
EE 135 17.1 37.8 444 527
QAER0} 7.3 116 293 329 458 56.1
Hgate 380 526 61.3
=Z3tc2) 827 50,2 498 585
oYA 95 183 28.1 36.2 436 513
S28}7(0 36 105 153 208 321 352
&710f 34 57 95 189 329
148 bs [ 19.4 339 431 436
=9 1.0 163 228 255 345 406
AQA 249 30.1 347 395
FHLICH) 294 382 410
nzez 205 242 276 328
a2|A 124 251 305 344
E7| 35 100 201 26.7
&7tz 19 36 6.1 7.8 172 230
EWEE) 00 0.1 23 63
A 35 84 182 282
o AELIO} 248 435 753
0| ARtets) 323 407 530
224U of 241 289 36.4

A28 : ITU, World Telecommunication/ICT Indicators database 2014,

) AQHI] 20138 ZER= 2012dE X2 Y

) Z2ACO| 2013HE ZER|E 20129 XRY
3) FiLiCte] 2013EE ZEX|= 2012WE AtEY

) HAIRO| 2013HE ZER|= 2011HE X2

) 0|AZIAO| 2013EE AZR|= 2012WE XIEY

Uy e Ipte Jp



L

QIE{Y AREX} HIS H /M HECHE 0|87

. Percentage of individuals using the internet and
fixed (wired) broadband monthly subscription charge
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(& 2-86) QUEIY AIBRL HIZ Y M BREME 0|2R(BES )
QIE{Ll AFBAH HIE ¥ fM BZEHE 0|87 =9
= 06 | 07 |08 | 09 | 10 | 11 | 12 | 13 | 14 |’06 °07 08|09 |'10 (11|12 1314
o= 0.459 | 0.746 | 0.722 | 0.756 | 0.764 | 0.774 | 08180834 (0834 | 19| 9 |12 12| 6 | 2 [ 2 | 2 | 1
0f0|&2E | 1.000 | 0.500 | 0.500 | 0.500 | 0.624 | 0.695 | 0.881 [0.839 |0.823| 2 | 22|22 23| 17| 9 | 1 | 1] 2
i[E= 0.726 | 0.734 | 0.711 | 0.776 | 0.877 | 0.729 | 0.785 | 0.707 [ 0817 | 10| 11 | 14| 10| 2 | 7 | 5| 9 | 3
o= 0.692 [0.719|0.708 | 0.766 | 0.684 | 0.551 | 0.790 | 0.720 | 0.764 | 13 | 12 |15 | 11| 1216 | 3 | 7 | 4
dige= 0.780 | 0.916 | 0,918 | 0,932 | 0.725 | 0658 | 0.733 | 0.745 (0762 | 7 | 4 | 3 | 2| 8 [10| 8 | 4 | 5
ot 0.840 | 0.811 | 0.840 | 0.831 | 0.892 |0.758 | 0.788 | 0.756 [0.744| 5 | 6 | 6 [ 7 | 1 |3 |4 |3 | 6
AQH 1.000 | 0,970 {0975 | 0.877 | 0.8180.699 | 0.705 [0.736 |0.739| 1 | 1 | 1 | 4| 4 |8 |13|6 | 7
QAEROF 0576|0704 0752 |0.781 | 0.369 | 0538 | 0.507 | 0.566 | 0.728 | 15 | 14 | 10| 8 |29 | 18|28 |22 | 8
oZA 0.359 | 0.383 | 0.402 | 0.649 | 0.606 | 0.524 | 0,730 [0.683 | 0.717 | 22| 25| 26 | 17| 20| 19| 10 | 12| 9
mats 0835 0.825 | 0.862 | 0,859 | 0.700 | 0566 | 0.663 | 0,694 [0.717| 6 | 5 | 5 | 5 | 10| 14| 15|10 10
M2 0.307 | 0542 | 0.702 | 0,645 | 0.650 | 0.403 | 0.584 | 0,686 [0.711| 24 | 20 | 16 | 18| 16 [ 29 | 18| 11 | 11
EME23 0742|0762 | 0761|0833 |0.620 | 0561|0650 |0676(0708| 9 | 8 | 7 | 6 | 18| 15| 16| 13|12
S2d710F 0556|0555 | 0.531 | 0.587 | 0.673 |0.615 | 0.722 | 0.670 | 0.689 | 17 | 19 | 20 | 21 [ 13 |12 [ 11| 14|13
F710f 0570 0.426 | 0.347 | 0.369 | 0.655 [ 0.610 | 0.733 |0.742 | 0.660 | 16 | 23 |27 |28 | 15|13 | 9 | 5 | 14
AQA 0.385 | 0.634 | 0.627 | 0.628 | 0.726 | 0.645 | 0.686 | 0.655 | 0.658 | 21 | 18 | 18 | 20| 7 | 11| 14| 16| 15
Eh[=! 0958 | 0.940 | 0.960 | 0,920 | 0.793 | 0.736 | 0.543 | 0,613 [0.654| 3 | 2 | 2 | 3 | 5| 6 | 24| 18] 16
Zac 0.264 | 0.421 | 0.412 | 0.426 | 0,613 | 0.745 | 0.737 | 0.640 | 0.636 | 25 | 24 | 24 | 26| 19| 5 | 7 | 17| 17
JIE = 0.3280.366 | 0.513 | 0.578 | 0.566 | 0.489 | 0.566 | 0.601 [0.626 | 23 | 26 | 21 [ 22| 21 [ 23 | 20 | 19 | 18
&tz 0.195 | 0.329 | 0.404 | 0.466 | 0.689 | 0.551 | 0.716 | 0.665 [ 0.614 | 26 | 27 | 25 | 24 | 11 | 17 | 12| 15| 19
=9 0.725 | 0.744 | 0,757 | 0.779 | 0.657 | 0.480 | 0.561 | 0.587 [0.611| 11| 10| 9 | 9 | 14|24 | 22| 20 | 20
HLiCH 0.743 0.786 | 0.760 | 0.751 | 0.826 | 0.746 | 0.757 |0.712 0602 | 8 | 7 | 8 | 13| 3 | 4 | 6 | 8 | 21
=290 0911 0,930 | 0,902 | 0.947 | 0.559 | 0,493 | 0500 [ 0574 (0592 | 4 | 3 | 4 | 1 | 22| 21|29 |21 |22
AmQl 0.7140.718 | 0.725 | 0.746 | 0.557 | 0.491 | 0.564 | 0.559 [ 0.575 | 12| 13 | 11 | 14| 23 |22 | 21| 24 | 23
E7| 0,007 | 0.326 | 0.333 | 0.389 | 0.414 | 0507 | 0.540 | 0.551 [ 0.548 | 29 | 28 | 28 | 27 | 28 | 20 | 26 | 25 | 24
mEIES 0.105 0,119 0,197 | 0.216 | 0.514 | 0.472 | 0581 [ 0.547 | 0.534| 28 | 29 | 30 | 30 | 25 | 25 | 19 | 26 | 25
n=EZ 0.450 | 0,636 | 0,627 | 0.640 | 0.501 | 0,447 | 0536 | 0.487 [ 0,530 | 20 | 17 | 19| 19| 26 | 28 | 27 | 28| 26
EEI 0.190 | 0.542 | 0.460 | 0.464 | 0.552 | 0.453 | 0.540 | 0.492 [ 0.501 | 27 | 21 | 23 | 25 | 24 | 26 | 25 | 27 | 27
AR 0,000 | 0.101 | 0.322 | 0.313 | 0.270 | 0.449 | 0.500 | 0.439 [ 0.451 | 30 | 30 | 29 | 29 | 30 | 27 | 29 | 29 | 28
FEHE 0.684 0661|0712 |0.701 [ 0.712 | 0.812 | 0.606 | 0.560 | 0.387 | 14 | 16 [ 13 | 15| 9 | 1 | 17| 23|29
CES 0.468 | 0.665 | 0.670 | 0,697 | 0.454 | 0.371 | 0.560 | 0.367 [ 0.348 | 18 | 15 | 17 | 16| 27 [ 30 | 23| 30 | 30
OECD BZ  [0552|0617 |0.637 | 0.661 | 0.635 | 0586 | 0.653 | 0.637 | 0.643
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(% 2-87) ISl ALEXt HIZ

(] : %)

= 2y 2004 2005 2006 2007 2008 2009 2010 2011 2012
ofo|aate 8388 87.00 89,51 90,60 91.00 93,00 93.39 94,82 96.21
w29o| 77.69 81.99 82.55 86.93 9057 92,08 93.39 9349 94.65
AQYE 8389 84.83 87.76 82,01 90,00 91.00 90.00 92.77 9318
El=Eli= 6852 81.00 83.70 85,82 87.42 89.63 90.72 91.42 9286
Eh[E] 80,93 82.74 86,65 85,03 85,02 86.84 88.72 89,81 92.26
EREEE] 65.88 70.00 72,51 7892 82.23 87.31 90.62 90.03 91.95
mete 72.39 7448 79,66 80.78 8367 82.49 86.89 88.71 89.88
= 65.61 70.00 68.82 75.09 78.39 83.56 85.00 85.38 87.48
U 62.39 66.92 68,69 7430 75.40 7800 78.21 79.05 86.25
AQA 67.80 70.10 75.70 77.20 79.20 81.30 83.90 85.19 85.20
stz 72.70 7350 7810 7880 81.00 81.60 83.70 8376 84,07
FHutct 65.96 71,66 72.40 73,20 76.70 80.30 80.30 83.00 83.00
=y 64.73 68.71 72.16 75.16 78,00 79.00 82.00 81.27 82.35
FAME 61.85 62.72 69.00 69.76 7203 79.70 80.46 81.23 82.00
oA 39.15 4287 4687 66,09 7068 71.58 77.28 7782 81.44
(ol 53.86 55.82 50,72 64.44 66.00 70.00 75.00 8161 80.72
QAEZ|0 54,28 58,00 63.60 69.37 7287 7345 75.17 7874 80.03
0= 64.76 67.97 68.93 75,00 74,00 71.00 71,69 69.73 79.30
ES 63.00 66,00 69.45 71,67 74,25 76,00 79.49 79.00
152 ojdAs 36.99 4161 54,82 61.16 65.34 67.38 69.85 7489 76.92
&24}7)of 52,89 55.19 56,08 61.80 66.05 70,00 75.71 74.44 76.71
2 3550 35.27 47.93 51.93 62.97 64.43 68.82 7049 7343
5712 21,74 38,97 47.06 5330 61.00 62.00 65.00 68.02 7058
AT 44,01 4788 50,37 55.11 59,60 62.40 65.80 67.60 69.81
Zac 3253 3881 4458 48,60 5313 58,97 62.32 61.95 62.31
meez 31.78 34,99 3801 42,09 4413 4827 5330 56.25 60.34
EEI; 3324 3500 37.99 40,79 4453 4883 5368 54,39 56,83
LIPS 21.42 24,00 3225 3588 38.20 42,40 44.40 51,65 56.07
Ef7| 1458 15.46 1824 28,63 3437 36.40 39.82 4307 4513
ENE 14,10 17.21 1052 20.81 2171 26,34 31.05 37.18 39.75
=L 28.18 31.18 34,50 35.90 37.30 4156 45.00 52.25 61.42

O AEL|O} 53.20 61.45 6351 66.19 7058 7250 74,10 76,50 78.39
o|AztY 2277 25.19 27.88 4813 59.39 63.12 67.50 6887 7080
2o} 4081 4681 54,01 56,74 58,00 64,00 70,00 67.34 68.35

% A28 o [TU, World Telecommunication/ICT Indicators database 2014,



(% 2-88) S EZCHIE 0|28

(TH9] : USD)
= 7t 2004 2005 2006 2007 2008 2009 2010 2011 2012
Ef7| 3235 3043 17.30 19.30 1248 11.64
i[E 15.00 19.95 19.95 19.95 1495
E\E 54,96 32,02 34,95 16.06 17.32 18.49 16.62
=2 3884 24,86 12.50 18.21 1991 1812
XA 2500 17.66 2341 27.82 39.34 31.42 22,60 20.43
o= 35.31 2869 27.73 2758 2337 2471 20.83 2054
WEIES 24,16 2292 1899 20.28 2193
QAER|0} 24.75 22.46 5842 3458 39,60 4159 24,61
SzHt7(ot 27.80 27.38 26.11 2764 25,54
EEI; 37.04 2488 31.37 24,74 27.64 26.42 27.98 25.86
Uz 3264 36.06 2301 26.58 26.58
o= 18.15 2349 2595 27.07 26.63
nzey 24.48 1585 18.14 2899 27.76 26.48 29.19 26,98
oA 36.46 3458 26.36 29.21 26.99
] 23.18 27.68 2092 22,63 21.72
otolEE= 63.35 56.85 4764 3389 24.95 2837 29.50
A0 16.26 16.70 17.19 33.79 32,06 31.10 32,66 30.94
(ol 49.69 52.38 29.28 27.78 2503 26.63 32,07
ot 36.60 34.85 33.10 34.76 32.13
ygzs 36.60 3472 3311 3477 32,67 153
e 36.46 37.36 35.63 37.41 3458
AR 30.19 3253 3455 36.81 35.28 %
AQA 39.52 39.35 39.08 31.39 31.25 32,60 38.29 36,26 ;
e 42.46 40.28 38.41 40.33 37.28 ﬁ
=Y 36,60 41,60 39.67 4166 3850 "H_OT
FHuict 2118 | 2363 | 2622 | 3077 | 3098 %
dol=2 29.23 2779 4427 4638 4299 oF
==90] 5301 4755 49.47 5335 51.40 fii‘
FEHUE 28.12 18.71 3599 44.24 60.76 E
5% 50.29 46,76 36.65 61.84 62,07
=L 47.83 46.36 39.18 20.65 2567
O AEL|O} 2344 36.94 26.56 21.94 2225 20,57
0|AzA 6.36 16.58 9.11 35,50
SatLiot 42.46 36.11 34.44 36.16 3342

% A28 o [TU, World Telecommunication/ICT Indicators database 2014,
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oryae 842 8.48 856 830 8.15 7.99 8.17 833 862
Hgas 7.99 808 811 821 8.20 8.17 8.08 803 810
FHtct 839 833 827 8.10 801 808 818 808 7.93
nzey 7.38 7.30 7.19 7.04 6.87 7.15 7.61 7.87 7.85
Al 7.38 7.47 7.55 753 7.49 7.66 772 7.98 7.69
CES 837 825 805 7.94 7.85 7.96 798 7.92 7.67
SAMCS 7.68 7.72 7.71 755 7.36 7.29 7.34 7.32 7.50
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o=z 6.79 6.91 7.02 698 6.81 7.06 7.30 7.39 7.20
s 5.40 510 499 507 5.89 6.57 7.12 7.12 7.10
0= 6.78 6.72 6.77 6.73 6.65 6.67 6.75 6.95 7.06
£ 7.24 7.05 6.78 6.76 6.75 6.98 7.07 7.14 6.95
EWEL 5.94 6.02 6.01 594 570 593 6.30 6.79 6.94
Ev 7.18 7.01 7.14 6.96 6.87 6.87 6.89 7.05 6.94
==t 7.23 7.30 7.33 7.16 6.68 6.49 6.45 6.83 6.93 —
=y 6.13 6.19 6.30 6.42 6.27 6.40 652 6.68 6.76
AHQI 6.39 6.55 6.53 6.60 6.36 6.55 6.58 6.72 6.64
QAEZ|o} 693 6.90 6.74 6.37 6.21 6.03 6.08 6.24 6.64
AQJA 6.03 6.41 6.54 655 6.37 6.38 6.31 6.47 6.60
=290 6.29 6.54 6.51 650 6.30 6.40 6.54 6.64 6.58 159
otol&&E 875 885 9.08 9.10 856 7.70 6.85 6.62 6.44
mate 7.05 6.93 6.77 6.68 6.69 6.66 6.47 6.40 6.42 .
EE; 6.48 6.36 6.38 6.12 595 583 6.06 6.27 6.38 jé
mEIPN 6.91 6.79 6.62 6.25 6.15 6.13 6.26 6.22 6.12 =
&24}7)of 7.16 7.07 6.69 6.60 6.28 6.35 6.18 6.15 6.05 J%il
stz 5.80 5.29 487 469 5.00 555 594 6.19 5.96 HH_OT
XA 6.33 6.33 6.23 6.23 6.25 598 576 5.84 590 %
Uz 5.69 575 5.66 569 552 5.46 528 5.46 5.54 o
5712 7.12 6.97 6.09 567 535 528 523 531 548 i\lﬁ_‘
oA 489 4,69 4,61 465 476 468 472 457 454 E
A 8.10 793 753 715 7.04 7.14 7.39 7.47 7.38
o AEL|O}F 7.16 7.25 7.19 7.13 6.96 6.67 651 6.29 6.37
olAat 792 808 820 808 7.98 8.06 8.22 828 826
S21L{of 485 482 499 5.08 479 452 424 431 434
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FHLtct 0.717 | 0.666 | 0.727 | 0.714 | 0.775 | 0.748 | 0.759 | 0.782 [ 0815 | 5 | 6 | 6 | 5| 4 | 4 | 3 | 3 | 3
oYA 07130689 | 0.717 | 0.702 | 0.764 | 0.681 | 0.705 | 0651 [0.715| 6 | 5 | 7 | 7| 5|6 |4 | 5| 4
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E2C 05210496 | 0.431 | 0.409 | 0.483 | 0.449 | 0.496 | 0525 | 0557 | 11| 16 | 21 [ 21| 19|18 |15 | 11| 9
Z710f 0610 {0529 | 0.614 | 0.623 | 0.696 | 0.660 | 0.649 | 0.604 |0554| 8 |12 10| 9 | 7 |7 |7 |7 |10
o= 0.463 [ 0517 | 0.543 | 0.586 | 0576 | 0.524 | 0.461 | 0.449 | 0533 | 16 | 13 | 13 | 11| 12 | 13 | 17 | 15| 11

FEHE 0.34510.316|0.378 | 0.430 | 0.502 | 0.491 | 0.524 | 0.494 | 0.475| 22 | 23 | 23 | 19 | 18 | 17 | 13 | 13 | 12

AQYH 0.480 | 0.400 | 0.447 | 0.444 | 0.537 | 0.529 | 0.562 | 0.546 | 0.452 | 14 | 21 | 20 | 18 | 14 | 12| 10| 10| 13

EREEE] 0.343]0.419 | 0.531 | 0.552 | 0.551 | 0.492 | 0.481 | 0.428 | 0.449 | 23 | 19 | 15 | 14| 13 | 16| 16 | 16 | 14

23 0.637{0.579 | 0.596 | 0.585 | 0.612 | 0.593 | 0.545|0.493 | 0.449 | 7 | 10| 11 [ 12| 11 | 10| 12| 1415

Oo|&&tE 0.501{0.621|0.782 | 0.833 | 0.850 | 0.750 | 0.664 | 0.503 | 0.432 | 12 | 8 | 5 | 3 | 3 | 3 | 6 | 12|16

n2EZ 0.146 | 0.151 | 0.217 | 0.265 | 0.318 | 0.331 | 0.397 | 0.414 [ 0.382 | 28 | 27 | 25 | 25 | 24 | 24 | 19| 18 | 17 161
52 0.485 | 0.650 | 0,627 | 0.612 | 0504 | 0,504 | 0.446 [0.428 [ 0.365| 13| 7 | 9 | 10| 17 [ 15| 18 | 17 | 18
o= 0.439 | 0.410 | 0.402 | 0.334 | 0.403 | 0.375 | 0.362 | 0.311 [0.327 | 17 | 20 | 22 | 23 | 21 | 21 | 22 | 23 | 19 T
agjA 0473 [0.500 | 0.528 | 0.402 | 0.396 | 0.336 | 0.363 [0.338 [ 0.320 | 15 | 15 | 16| 22 | 23 | 23| 21 | 20 | 20 E
] 0572|0602 | 0.564 | 0.483 | 0.461 |0.426 | 0.393{0.335[0.309 | 9 | 9 |12 | 17|20 | 19|20 21 | 21 J%Jl
g= 0.163 | 0.156 | 0.140 | 0.170 | 0.254 | 0.285 | 0.282 | 0.271 [ 0.308 | 27 | 26 | 27 | 27 | 27 | 26 | 27 | 25 | 22 nﬂ%
=290 0164 [0.211|0.208 | 0.215 | 0.284 [ 0,341 | 0,350 [ 0.323 [ 0.299 | 26 | 25 | 26 | 26 | 25 | 22 | 23 | 22 | 23 #O_il
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(& 2-100) =0 1918 MALIITIX(EES )
=8l 121g MASTITR| =9
= 7t
06 | 07 |08 | 09 | 10 | 11 | 12 | 13 | 14 |’06 °07 08|09 |'10 (11|12 1314
2M=23 1,000 |1.000|1.000 | 1.000 | 1.000 [ 1.000 | 1.000 | 1.000 | 1.000| 1 | 1 [ 1 [ 1| 1| 1 [ 1| 1]1
=29 0619 | 0.600 | 0.555 | 0.662 | 0587 | 0.554 | 0563 (06110613 2 | 2 |2 |2 | 2|2 |2 |22
AQA 0.466 | 0.438 | 0,451 | 0,503 | 0.534 |0.498 | 0.483 (0,502 [0509| 5 | 3 | 3 [ 3|3 |3 |3 |33
o= 0.495 | 0.427 | 0,400 | 0.394 | 0.403 | 0.372 0350 |0.364 (0358 | 3 | 4 | 5 |4 | 4 | 4|4 | 4|4
33 0.411]0.357 | 0.343 | 0.349 | 0.402 | 0.363 | 0.339 [0.347 [0.340| 6 | 6 | 6 | 7 | 5|5 | 5|5 |5
oryaie 0.470 | 0.425 | 0,416 | 0.351 | 0.380 |0.352 | 0.335(0.338(0332| 4 | 5 | 4 |6 |6 |6 |6 |6 | 6
QAEZ|O}  |0.371/0339(0323 (0344|0363 [0.329 0322 0325(0325| 9 | 8 |9 |8 |8 |7 |7 |7 |7
Hgate 0.374 0334|0327 | 0.353 | 0.369 | 0.328 | 0.306 | 0.301 [0296| 8 | 9 | 8 [ 5| 7|8 |8 |88
AQd 03110283 0,285 | 0.291 | 0.285 | 0.280 | 0.265 | 0.271 [ 0.277 | 14| 11 | 10 | 10| 13| 10|10 | 10| 9
JHLiCH 0.409 | 0351 0.330 | 0.338 | 0.328 | 0297 | 0273|0277 (0271 | 7 | 7 | 7 | 9| 99 |9 | 9 |10
= 0.306 | 0.274 | 0.263 | 0.275 | 0.276 | 0.272 | 0.265 | 0.267 [ 0.271 | 15 | 12 | 12 | 13 {15 [ 11 | 11| 11 | 11
Z710] 0313 ]0.271 | 0.254 | 0.263 | 0.289 | 0.266 | 0.249 | 0.250 [ 0.251 | 13 | 13 | 15| 17 | 11| 12| 12 12| 12
ol0|&2tE 0326|0263 | 0,243 [ 0.283 | 0.287 |0.235 (0,215 |0.218 [0.224 | 11|15 [ 17 [ 11|12 [ 14| 14| 14|13
otz 0.284 | 0.256 | 0.242 | 0.264 | 0.259 | 0.251 | 0.223 {0,227 [0.223 | 16 | 17 | 18 | 15| 16 | 13 | 13| 13| 14
o= 0.324 {0270 | 0.259 | 0.248 | 0.243 | 0.230 [ 0.197 | 0.204 | 0200 | 12 | 14 | 13| 18 | 18 | 16 | 16 | 15| 15
e 0.352 | 0.308 | 0.279 | 0.280 | 0.294 | 0.231 0,191 {0,183 [0.189 | 10| 10 | 11 [ 12| 10| 15| 17|18 16
mats 02730244 | 0,258 | 0,271 |0.248 | 02180198 | 0.190 [ 0.186 | 18 | 18 | 14 | 14 | 17 [ 17 | 15| 16 | 17
ATOl 0.278 | 0.256 | 0.251 | 0.264 | 0.285 | 0.217 | 0.186 | 0.184 [ 0.183 | 17 | 16 | 16 | 16 | 14 | 18 | 18| 17 | 18
FEUME 0227|0193 0.189 | 0.179 | 0.222 |0.186 | 0.168 | 0.176 [ 0.173 | 21 | 21 | 21 [ 21| 20 | 21 | 21 | 19 | 19
ogA 02410203 | 0,195 | 0,197 | 0.222 |0.193| 0173 [ 0.171 [ 0.171 | 20 | 20 | 20 | 20 | 21 [ 20 | 19| 20 | 20
5t 0.196 | 0.164 | 0.163 [ 0,159 | 0.179 |0.178 | 0.156 | 0.162 [ 0.159 | 22 | 24 | 23 | 23 | 23 | 22 | 22 | 22 | 21
JEE) 025502180213 | 0,221 |0.230 |0.195| 0,171 {0.163 [ 0.158 | 19| 19 | 19 | 19| 19 [ 19 | 20 | 21 | 22
A2 0.182|0.169 | 0,175 | 0,170 | 0.186 | 0.150 | 0.137 [ 0.132 [ 0.133 | 24 | 23 | 22 | 22 | 22 | 23 | 23 | 23 | 23
S2Hp70} 0091 ]0.098(0.116 |0.145 | 0.150 0,133 | 0,120 [0.123 | 0.126 | 26 | 26 | 25 | 25 | 25 | 24 | 24 | 24 | 24
Zac 0,041 0.035 | 0.043 | 0,046 | 0.083 | 0.072 | 0.064 | 0.074 [0.082 | 28 | 28 | 28 | 28 | 27 | 27 | 26 | 25 | 25
n2gy 0.1230.107 | 0.102 | 0.100 | 0.124 | 0.099 | 0.068 | 0.063 | 0.066 | 25 | 25 | 26 | 26 | 26 | 26 | 25 | 26 | 26
mEIPS 0.186 | 0.173| 0,148 | 0.151 | 0.166 | 0.114 | 0,057 | 0.038 [ 0.037 | 23 | 22 | 24 | 24 | 24 | 25 | 27 | 27 | 27
&7tz 0.069 | 0.061 | 0.049 | 0,052 | 0.062 | 0.048 | 0.039 | 0.030 [ 0.036 | 27 | 27 | 27 |27 | 28 | 28 | 28 | 28 | 28
AT 0,032 | 0.031 | 0,026 | 0,025 | 0.023 | 0.016 | 0.012 {0,015 [0.019 | 29 | 29 | 29 | 29 | 29 | 29 | 29 | 29 | 29
E7| 0.000 | 0.000 | 0,000 | 0,000 | 0.000 | 0.000 | 0.000 | 0,000 [ 0.000 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30 | 30
OECD E# | 0.301 [0.272|0.263 | 0.273 | 0.283 | 0.256 | 0.238 | 0.240 | 0.240




(& 2-101) =2 12 MARIIIIR|

(49 : &of (PPP)

=2 7t 2005 2006 2007 2008 2009 2010 2011 2012 2013
V- EEE] 46,481 54818 | 59253 | 58096 | 53923 | 58763 | 62519 | 63047 | 64028
=290| 31,821 36450 | 37136 | 41943 | 35687 | 37359 | 40501 43392 | 44070
AQA 25940 | 29000 | 31971 34386 | 33350 | 34660 | 36484 | 37845 | 38709
o= 27066 | 28485 | 29433 | 29169 | 27559 | 28585 | 29768 | 30908 | 30908
372 23810 | 25283 | 26591 27002 | 27514 | 28152 | 29209 | 30019 | 30019
EIE=) 26,080 28418 | 30,249 27,127 26,540 27,623 29,001 29,581 29,581
QAEZ|0} 22288 | 24484 | 25616 | 26760 | 25786 | 26535 | 28339 | 28922 | 29247
Hgzi= 22388 24,247 25,835 27,186 26,085 26,487 27561 27,687 27,744
Al 19974 | 21893 | 23721 24249 | 22361 24,201 25493 | 26167 | 26758
HHLtEH) 23726 | 24992 | 25968 | 26489 | 24272 | 25025 | 25863 | 26460 | 26460
=9 19,781 21489 | 22654 | 23473 | 21984 | 23822 | 25484 | 25973 | 26441
2710 20039 | 21,321 22174 | 22929 | 22546 | 23493 | 24650 | 25106 | 25424
ofolaz 20537 | 20962 | 21635 | 23878 | 22439 | 22011 22959 | 23501 24,029
=B 18918 | 20627 | 21607 | 22971 21210 | 22812 | 23375 | 23980 | 23980
Q=6) 20467 | 21273 | 22407 | 22216 | 20497 | 21789 | 22046 | 22797 | 22797
gz 21553 | 23030 | 23447 | 23744 | 22769 | 21813 | 21744 | 21711 22217
m2tce 18526 | 20090 | 22392 | 23299 | 20720 | 21228 | 22004 | 22098 | 22081
AT 18708 | 20658 | 22030 | 22956 | 22358 | 21,148 | 21466 | 21757 | 21894
SAIMET) 16,749 | 17,751 18945 | 18894 | 19587 | 19667 | 20576 | 21385 | 21,385
p=I0N 17282 | 18233 | 19235 | 19778 | 19585 | 20029 | 20849 | 21110 | 21301
5t=29) 15536 | 16431 17,647 17932 | 17679 | 19272 | 19988 | 20660 | 20660
EEI 17,831 18926 | 20,146 | 20927 | 19921 20,121 20737 | 20742 | 20,609
H 7 15007 | 16645 | 18235 | 18463 | 17972 | 17957 | 18998 | 19173 | 19344
&2H}7|0f 11520 | 13411 15338 | 17258 | 16383 | 17,117 | 18177 | 18697 | 18975
Zc 9,580 10,488 11,674 12,531 13,438 14,197 15,318 16,220 16,717 173
L2EZ 12760 | 13805 | 14,641 15125 | 15260 | 15508 | 15564 | 15643 | 15863
12| A9) 15,148 | 16832 | 16920 | 17570 | 17,110 | 16208 | 14969 | 14383 | 14383 =
&712| 10678 | 11,702 | 11983 | 12841 12528 | 13061 14,081 13990 | 14309 =
N 9,228 10320 | 10875 | 11573 | 10788 | 11505 | 12727 | 13252 | 13472 =
E{7[10 8010 8892 9,561 10,356 9782 10,740 | 12113 | 12477 12,477 E
L 9,246 11209 | 12232 | 11713 | 11407 | 13206 | 14521 15209 | 15847 &
o AEL|O} 11156 | 12987 | 14524 | 14702 | 12126 | 13040 | 14828 | 15580 | 16075 %
oAzt 13798 | 14143 | 15357 | 15360 | 15324 | 15988 | 16649 | 17308 | 17.829 >
2ot 15582 | 17085 | 18559 | 19652 | 17567 | 17479 | 18320 | 18476 | 18630 (J,fnﬂf
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SIO[E|TAC] MIZY =4 HIE
High—technology exports, % of manufactured exports
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(E 2-102) StolETAHL| MEY +2H HIF(EZS )
StO|HIIMHL M= +ZU HIS =9
= 06 | 07 |08 | 09 | 10 | 11 | 12 | 13 | 14 |’06 °07 08|09 |'10 (11|12 1314
52 0965 | 0932 | 0,673 | 0.488 | 0.664 | 0,909 | 1.000 [1.000[1.000| 2 | 3 [ 4 |2 | 2 [ 2| 1 |1 |1
AQA 0.679 | 0.665 | 0.477 | 0.355 | 0.569 | 0.801 | 0.832 (0,967 [0984| 8 | 9 | 8 | 7|5 |3 |3 | 2|2
CIPN 0.556 | 0.565 | 0.435 | 0.282 | 0.469 | 0.704 | 0.835 [ 0917 | 0.969 | 12 | 12| 11| 9 | 7 |6 | 2 | 3| 3
orlai= 1.000 | 1.000 | 0.726 | 0.432 [ 0.616 [ 0.758 | 0.701 | 0.832 [0852| 1 | 1 | 2 |3 | 4 |5 |6 |5 | 4
g= 0703 |0.807 | 0.711 | 0.290 | 0.431 | 0,675 | 0,693 [0.820|0818| 6 | 6 | 3 |8 | 9 | 7|7 |6 |5
qlge= 0.889 | 0,884 | 0.603 | 0.364 | 0.451 | 0.645|0.703 [0.753 [0.749| 3 | 4 | 6 | 6 | 8|9 |5 | 8| 6
=290 0.483 | 0.440 | 0.341 | 0.218 | 0.338 | 0.473 | 0.516 | 0,697 [ 0.697 | 14| 16 | 14 | 14|14 |14 |12 9 | 7
7k 084507320494 | 03730554 |0.781 0802 | 0875|0668 | 5 | 7 | 7 | 5| 6 | 4 | 4| 4|8
o= 0.883 | 0.855 | 0.626 | 0.431 | 0.621 | 0.665 | 0.654 | 0,681 (0657 | 4 | 5 | 5| 4| 3|8 |9 |10]9
U= 0691 | 0.647 | 0.449 | 0.281 | 0.401 | 0573 |0.582 | 0.654 [0.640 | 7 | 10| 10| 10| 10| 10| 10| 11|10
AT 0.603 | 0.546 | 0.380 | 0.260 | 0.361 | 0.553 | 0.545 | 0.614 [0.596 | 9 | 13 | 13 | 12| 12 [ 11| 11|12 11
R 035103450277 | 0.193 | 0.305 | 0.432 | 0.486 | 0.605 [ 0585 | 19 | 19 | 17 | 16| 16 | 16 | 13| 13 | 12
= 0.495 | 0.480 | 0.339 | 0.206 | 0.299 | 0.455 | 0.484 | 0550 | 0.574 | 13 | 14 | 15| 15| 17 | 15| 14 | 14| 13
ofo|&E 0378|0977 | 1.000 | 1.000 | 1.000 | 1.000 [ 0.687 [0.796 |0513 |17 [ 2 | 1 |1 [ 1| 1|8 |7 |14
otz 0573 | 0.632 | 0.402 | 0.253 | 0.357 | 0,537 | 0.442 [ 0508 [ 0.510| 11| 11 [ 12| 13|13 | 12|15 | 15| 15
AQdl 0482 0.465 | 0.316 | 0.164 | 0.245 | 0,376 | 0.427 [0.483 | 0.474| 15 | 15| 16| 18 | 18 | 18| 17 | 17 | 16
QAEZ|O} | 0.444 |0.369 | 0.255 | 0.160 | 0.240 [0.333 | 0.362 | 0.412 | 0.452 | 16 | 17 {19 [ 19| 19| 20 | 18 | 19| 17
=ES 0362 0.340 | 0,233 | 0,143 | 0.234 {0,343 | 0.361 [ 0.470 [ 0.448 | 18 | 20 | 20 | 20 | 20 | 19| 19 | 18| 18
FHLtCt 0.317 [ 0.349 | 0.255 | 0.185 | 0.306 | 0.488 | 0.440 | 0.485 [ 0.434 | 20 | 18 | 18 | 17 | 15| 13| 16| 16| 19
gl 7)o 0.203 | 0.227 | 0.144 | 0.004 | 0.163 [ 0.290 | 0.310 [ 0.342 [ 0.391 | 25 | 24 | 25 | 24 | 24 | 22| 21 | 20 | 20
SR 0239 0.262 | 0,188 | 0.122 | 0.175 | 0.242 | 0,257 | 0313 [0.325 | 23 | 23 | 23 | 21 | 22 [ 23| 23 | 22 | 21
Z24p7|0F  [0.111[0.179]0.108 | 0.059 | 0.093 [0.134 | 0.176 | 0.220 | 0.307 | 28 | 27 | 27 | 27 | 28 | 28 | 26 | 26 | 22
mEIPN 0310 |0.274 | 0.202 | 0.093 | 0.197 [ 0.307 | 0.298 | 0.327 [ 0.302 | 21 | 22 | 22 | 25 | 21 | 21 | 22 | 21 | 23
mats 0592 |0.709 | 0.454 | 0.274 | 0.398 | 0.4110.327 [ 0311 [0.276 | 10| 8 | 9 | 11| 11 [ 17|20 |23 |24
2ME23  0268]0312(0216|0.1170.123{0.237 | 0,234 [0292 | 0.258 | 22 | 21 | 21 | 22| 25 | 24 | 24 | 24 | 25
JE=ILE 0.1910.196 | 0.122 | 0,074 | 0.122 | 0.193 | 0.193 | 0.231 [ 0.215 | 26 | 26 | 26 | 26 | 26 | 25 | 25 | 25 | 26
A9 0.167 [0.174|0.101 | 0.055 | 0.094 | 0.151 | 0,161 [0.194 | 0.212 | 27 | 28 | 28 | 28 | 27 | 26 | 28 | 27 | 27
Zac 0.045 [ 0.070 | 0,042 | 0.019 | 0.069 | 0.147 | 0173 [ 0.169 | 0.210| 29 | 29 | 29 | 29 | 29 | 27 | 27 | 28 | 28
pa=i=F 02110223 0,165 | 0,110 | 0.167 | 0.068 | 0.054 | 0.071 [0.092 | 24 | 25 | 24 | 23 | 23 | 29 | 29 | 29 | 29
E7| 0.000 | 0.000 | 0,000 | 0.000 | 0.000 | 0,000 | 0.000 | 0.000 | 0.000| 30 | 30 [ 30 | 30 | 30 | 30 | 30 | 30 | 30
OECD E# | 0.468 |0.489 | 0.358 | 0.236 | 0.335 | 0.456 | 0.458 | 0.520 | 0.507




(¥ 2-103) sloje|2 &0l HEY 5 HIF

(S : %)

= 2y 2004 2005 2006 2007 2008 2009 2010 2011 2012
ot 32.92 3248 32.15 30.54 27.60 2873 29.47 25.72 26.17
AQA 2374 2359 2334 2275 2389 25.54 24,84 2494 2578
mafA 19.76 2027 21.46 18,48 19.97 2264 24.92 2375 25.41
ofaic= 34.04 3473 3453 27.26 2573 24.26 21.23 21.71 2257
o 24,49 2831 3388 18.92 18,50 2179 21.02 21.43 2174
E[}== = 30.47 30.89 2899 2331 19.25 20.90 21.29 19.81 20.07
=290| 17.44 16.09 17.22 1473 1485 15.80 16.15 18.47 18.80
&712| 29.05 2583 24,12 2379 2330 24.94 24,01 2273 18,09
o2 30.28 29.90 30,06 2722 2592 21.49 19.93 18.09 17.83
= 24,10 2298 22.06 18.41 17.31 1876 17.96 17.46 17.41
oAl 2 21.29 19.64 18,98 17.18 1573 18.18 16.94 16,51 16.33
HZ 1319 12.95 14,32 1324 1356 14.56 15.30 16.28 16.08
=9 17.82 17.42 17.14 13,99 1330 15.26 15.25 14,96 15.80
ofo|&RE 14,04 3397 46.83 60.66 4075 31.45 20.86 20.86 1433
== 20.31 2251 19.93 16.79 15.58 17.70 1411 1398 14,24
AQHl 17.41 16.94 16,10 11.53 11.20 12.91 13,70 1338 13.36
QAEZ|0} 16.16 13.74 1334 11.31 11.00 11.64 11.91 11.67 12,84
kS 1354 12,79 12.34 10,27 10,79 11.93 11.88 1307 12,73
JHLtct 12.09 1308 1334 12.75 13.60 16.22 14,05 1343 12.39
176 T 8.44 9.02 835 7.41 7.98 10.36 10.47 10,01 11.36
SaE 957 10.19 10.32 9.08 847 894 9.00 9.31 9.74
=2H}7|o} 5.48 7.44 6.72 5.35 5.26 5.70 6.77 7.10 9.30
WEIEN 11.85 1058 10.96 737 9.31 10.86 10.15 9.66 9.17
e 20.93 25.06 2231 17.98 17.21 1396 10.94 9.27 855
EVEEE] 1051 11.86 1158 876 6.42 878 8.37 881 812
EEE 804 7.98 7.33 6.26 6.40 7.47 7.24 7.37 7.07
AT 726 7.26 6.38 5.11 5.31 6.23 6.36 6.47 6.99
Zate 334 379 374 304 432 6.10 6.69 587 6.95
n2EZ 868 8883 9.28 835 8.14 377 341 353 406
E{7| 1.90 147 1.85 1.89 1.62 1.74 1.93 184 1.83
2| 5.02 6.42 6.38 6.48 489 3.40 5.48 461 464

O AEL|O} 14,00 14,66 12,63 5.80 5.40 5.68 9.27 13.39 10.74
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= 06 | 07 |08 | 09 | 10 | 11 | 12 | 13 | 14 |’06 °07 08|09 |'10 (11|12 1314
AQA 1.000 | 1.000 | 1.000 | 1,000 | 1.000 | 1.000 | 1.000 [ 1.000| 1.000| 1 | 1| 1 | 1 | 1 [ 1|1 [ 1|1
dige= 0579 [0.657 | 0.617 | 0.691 | 0.576 | 0.689 | 0.642 [0620 [0664| 2 | 2 |2 | 2| 2|2 |2 | 2|2
AQc 0377 0.359 | 0.352 | 0.472 | 0.334 | 0.378 | 0,382 [0.4140.439| 6 | 6 | 7 | 4 | 5|5 |6 |5 |3
Olo|&RE 0207|0217 [0.216 [ 0.270 | 0.255 | 0.265 | 0.280 | 0.424 | 0.427 | 18 | 19 [ 18 | 16|10 |10 9 | 3 | 4
olgtz/ot 0536 | 0.496 | 0.486 | 0.494 | 0.400 | 0.395 | 0403 [0.416 {0419 3 | 3 | 3 |3 |3 [3 |3 |4 |5
gl 7)o 0.393 | 0.434 | 0.423 | 0.454 | 0378 | 0.391 | 0,392 [0.404 [0.412| 5 | 4 | 4 | 5 | 4| 4|5 |6 |6
otz 0.414]0.410| 0,410 | 0.426 | 0.280 | 0.286 | 0.319 (0357 [0.391| 4 | 5 | 5 |6 | 7 |8 |8 |9 | 7
orlai= 0.289 | 0.330 | 0.328 | 0.357 | 0.280 |0.333 | 0.399 | 0.401 {0379 | 11| 9 | 8 [ 8|8 |6 |4 |7 |8
g= 0362 | 0.354 | 0.356 | 0.377 | 0.302 | 0.308 | 0.328 [0.357 [0.366 | 7 | 7 | 6 | 7 |6 | 7|7 |89
eSS 0269 | 0314|0315 | 0.324 | 0.253 | 0.261 | 0.268 | 0.336 [ 0.340 | 13 | 12 | 11 [ 10| 11 [ 12| 12|10 10
w290 0.254 0,295 | 0,297 | 0.304 | 0.242 | 0,251 | 0,264 | 0285 [ 0.301 | 15 | 13 | 13| 13| 13 [ 13|13 | 12| 11
FHLtCt 0.300 [ 0.318|0.319 | 0.309 | 0.247 | 0.277 | 0.279 | 0.289 [ 0.287 | 10 | 10| 10| 12| 12| 9 | 10| 11| 12
mEIPN 0224 ]0.233| 0,267 | 0.287 | 0.232 | 0.244 | 0,242 [ 0250 [ 0.280 | 16 | 17 | 16| 15| 16 | 15| 16 | 15 | 13
A 0.194]0.206 | 0.201 |0.218 | 0.175 | 0,187 | 0.206 | 0.245 [ 0.277 | 20 | 20 | 19| 18 | 19| 18| 18 | 16| 14
CES 0.2710.290 | 0.294 | 0.296 | 0.268 | 0.263 | 0.273 | 0.252 [ 0.271 | 12 | 14 [ 14 | 14| 9 [ 11| 11| 14| 15
QAEZ|O}  [0.322 /0318|0311 (0.313[0.239 [0.246 | 0251 |0.269 |0.269 | 8 | 11|12 | 11| 15| 14|14 | 13|16
o2 0309 |0.335 | 0.321 | 0.325 | 0.242 | 0,224 | 0,245 (0236 [0.229 | 9 | 8 | 9 | 9 | 14| 16|15 |17 |17
== 0.260 | 0.288 | 0.271 | 0.270 | 0.207 | 0.204 | 0.207 | 0.213 | 0.214 | 14 | 15 | 15 | 17 | 17 |17 |17 | 18 | 18
met= 0.1840.202 | 0,194 | 0.204 | 0.153 | 0.159 | 0.169 | 0.194 [ 0.201 | 21 | 21 | 21 [ 21| 21 [ 20 | 20 | 19 | 19
= TIPN 0218 ]0.242 | 0,222 |0.215 | 0.175 {0,173 | 0,172 [0.176 [ 0.174 | 17 | 16 | 17| 19| 18 | 19| 19 | 20 | 20
] 0.178 | 0.115| 0,105 | 0.124 | 0.099 | 0,118 0,138 | 0.140 [ 0.143 | 22 | 23 | 23 | 22 | 22 [ 22 | 21 | 21 | 21
5712 0196 [0.230| 0,198 | 0.209 | 0.161 {0,129 | 0,112 {0,120 [ 0.123| 19 | 18 [ 20 | 20 | 20 | 21 | 22 | 22 | 22
nzsy 0.125[0.145| 0,136 | 0.114 | 0,059 | 0.061 | 0.074 | 0.081 [ 0.100| 23 | 22 | 22 | 23 | 25 | 25 | 24 | 24 | 23
Zac 0073 |0.086 | 0,087 | 0.099 | 0.088 | 0.085 | 0.081 [0.088 [ 0.092 | 25 | 24 | 24 | 24| 23 | 23| 23 | 23 | 24
2M=23 0,000 |0.000|0.000 (0010|0034 0052|0061 0068 |0.085|30|30|30|29|28|26|25|25]| 25
AT 0.0310.036 | 0.039 | 0,055 | 0.050 | 0.031 | 0.034 | 0.041 [0.043 | 28 | 28 | 26 | 26 | 26 | 27 | 27 | 27 | 26
E7| 0078 ]0.082 | 0.064 | 0.079 | 0.062 | 0.063 | 0.059 [0.049 | 0.038 | 24 | 25 | 25 | 25 | 24 | 24 | 26 | 26 | 27
Z261710F | 0,046 | 0,048 | 0.028 | 0,038 | 0,036 | 0.024 | 0.022 | 0,022 |0.033 | 26 | 26 | 27 | 27 | 27 | 28 | 28 | 28 | 28
5= 0,024 0,028 | 0,003 | 0,000 | 0.000 | 0,000 | 0,002 {0,003 [ 0.004 | 29 | 29 [ 29 | 30 | 30 [ 30 | 29 | 29 | 29
U= 0038 |0.042 | 0,015 | 0.016 | 0.009 | 0.001 | 0.000 [ 0.000 | 0.000 | 27 | 27 | 28 | 28 | 29 | 29 | 30 | 30 | 30
OECD E# | 0.258 |0.270|0.263 | 0.278 | 0.228 [ 0.237 | 0.244 | 0.258 | 0.267
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(& 2-115) H78 191g SCl =& +

(el : )
= 7t 2004 2005 2006 2007 2008 2009 2010 2011 2012
AQJAT) 065 0.81 0.81
ElI=Fli= 0.46 050 0.47 051 0.55 064 0.60 058 0.62
EES 055 050 0.49 050 051 051 051 052 053
SAIMHE?) 043 0.42 0.43 050 050
AQl 0.34 0.31 0.32 0.40 0.37 0.42 0.41 0.44 0.47
RIE= 0.34 0.36 0.39 0.40 0.40 0.44 0.49 0.49 0.46
BEIPS 0.40 0.45 0.46 0.44 0.46
710 0.39 0.40 0.39 0.41 043 0.44 0.44 0.44 0.45
AT QI 0.29 028 0.29 0.30 0.31 0.33 0.34 0.39 043
g= 0.34 0.32 033 0.35 0.36 0.36 0.38 0.40 0.41
=290| 0.29 0.31 0.32 0.32 0.33 0.35 0.37 0.40 0.41
diot= 0.34 033 033 033 0.30 0.30 0.33 0.36 0.39
373 0.32 0.34 0.39 0.39
FHLICH) 0.31 0.32 0.34 0.32 0.34 0.37 0.36 0.38 0.38
0f0|&ZHES) 0.21 0.21 0.24 0.28 0.28 0.36 0.36
QAEZ|0} 0.34 0.32 0.32 0.31 031 0.32 0.33 0.35 0.35
Zate 0.23 0.22 0.26 0.27 0.30 031 031 0.33 0.34
h[E 0.36 0.25 0.26 0.27 0.28 0.30 0.32 0.32 0.32
=H 0.39 0.36 0.36 0.36 0.37 0.38 0.36 0.33 0.31
o|=6) 0.26 0.27 0.28 0.28 0.28 0.27 0.29 0.29 0.29
=9 027 028 0.28 0.28 0.28 0.28 0.28 0.28 0.29
mte 0.20 0.21 0.22 023 0.23 0.24 0.25 0.27 0.28
m2fAT) 0.26 0.27 0.27 0.26 0.27 0.27 0.27 0.27 0.27
196 8712 0.31 0.31 0.29 0.30 0.31 0.28 0.25 0.26 0.27
nagzt 0.25 0.26 0.27 023 0.19 0.20 0.21 0.22 0.24
o A|28) 0.17 0.16 0.20 0.22 0.24 0.22 021 0.23 0.23
EEEE] 0.09 0.08 0.11 0.12 0.16 0.19 0.21 0.22 0.23
&24t7(o} 0.21 0.19 0.21 0.22 0.23 0.21 0.20 0.20 0.21
o= 0.16 0.15 0.14 0.13 0.15 0.15 0.16 0.16 0.16
Uz 0.12 0.11 0.11 0.11 0.12 0.12 0.12 0.12 0.12
e 068 0.72 0.99 0.94 095 0.93
OAEL|O} 0.22 0.24 0.24 0.28 0.27 0.29 0.35 0.33 0.34
0|A2HA9) 0.25 0.25
S2H|LIOt 0.46 0.41 0.38 0.44 0.46 0.44 0.44 0.43 0.44

% XY : KAIST, SCl =2EAXtZ 2014; OECD, Main Science and Technology Indicators 2014—1.
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(= 2-116) 59 7|8 =2¢ ¥F I8 4
(el @ 3)
= 7t 2000~2004 20012005 2002~2006 | 2003~+2007 | 2004~-2008 | 2005~2009|2006~2010 2007~2011|2008~2012
oojaate 5.80 6.09 6.66 699 7.40 793 8.40 9.44 9.90
AQA 7.21 7.25 7.44 774 815 8.41 856 887 9.25
diot= 6.35 6.53 6.79 728 751 7.79 798 827 849
Hgte 6.18 6.38 6.70 7.10 7.36 7.61 7.78 811 8.40
AQH 584 6.08 6.25 657 6.84 7.07 7.27 7.53 7.76
710 532 553 5.89 6.27 6.55 6.93 7.07 7.40 7.71
e 6.39 6.54 6.74 693 7.1 7.23 7.34 7.47 7.62
o= 572 5.89 6.15 633 6.62 6.89 712 7.39 7.61
= 5.42 5.62 585 6.09 6.39 6.67 6.85 7.12 7.36
mate 5.62 5.71 585 596 6.20 6.48 6.74 7.06 7.34
[=PN=FI; 5.14 543 5.76 6.03 6.39 657 6.63 6.90 7.22
ot 464 487 490 5.27 5.60 6.05 6.39 6.64 7.02
FHLtct 5.28 532 552 578 6.03 6.27 6.49 6.72 6.97
oA 499 513 530 554 578 6.06 6.27 6.57 6.81
EEI; 488 503 528 548 578 6.03 6.18 6.44 6.68
=290] 495 5.18 548 576 6.00 6.09 6.10 6.27 6.58
ES 471 494 508 529 557 575 6.01 6.24 6.49
ATl 416 430 455 482 510 532 552 5.74 598
B 395 398 430 460 487 5.17 5.38 5.63 593
5712 391 425 452 468 477 492 518 547 559
a2|A 321 335 359 386 420 457 487 5.17 559
n2gYy 356 373 386 42?2 456 485 516 535 558
ZM=23 384 389 393 426 4,61 472 470 479 545
U= 425 437 451 472 491 502 515 528 5.40
XA 3.10 329 353 383 409 435 458 481 510
= 2.85 2.99 319 342 361 376 387 409 431
BA|R 279 2.88 305 321 343 358 377 392 414
&24}7)of 253 2.75 277 289 319 3.42 371 383 41
=2 290 308 323 3.41 3.49 356 360 3.66 3.75
SH] 173 185 205 224 243 2.57 270 285 2.94
e 378 401 425 444 4.41 4.45 458 458 467
o AEL|O} 3.60 382 4,01 418 466 482 481 5.41 6,00
BN 5.06 5.35 5.38 567 593 6.11 6.22 6.38 6.70
Z24Ljof 282 3.05 322 332 334 362 387 405 4.40

X2 1 KAIST, SCI =224tE 2014,
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(E 3-8) Y 7IA710l CHEt AtH Q1A

§ T = 2008 2009 2010 2011 2012 2013
rj OIX|E Helo|z 14.8% 12.8% 130% 11.2% 2.5% -
= AHoo|* 22.4% 13.9% 11.8% 17.2% 4.6% -
ﬁ T e Al HY Ms 69.5% 64.7% 67.6% 61.1% 59.4% 51%
ﬁ AN20| HAAT 66.7% 53.1% 61.4% 62.3% 68.1% 68%
#Qzﬂ HYsH A 30.1% 52.8% 29.0% 26.7% 26.9% 8%
3& Anjo| Faig 33% 23% 32% 45% 3% 2%
< * H|Slo) T3t Q1AL HYlol=e Bxf WHEm UX| oLt Mefol LERY 4 Qe HYUBSS olEd) 2 4 e SEzoI
ez QX F7[slof dleh Ee o=t = LiEE
=X : Global Entrepreneursh\p Monitor(2014), GEM 2013 Global Report.
(B 3-9) thetMEol Yol FHIHE
T = HI=(F)  HIS(%)
&S YUY Y2 el FHHCE FHIE st UKl AUt 584 58.4
X HY ofgol Am Mx| Fol tiet FHIE oto ULt 49 49
AUz ofgol gt 367 36.7
Bl 1,000 100.0
EX © JHR(2012), "TZHTRIZ| S2Y J|SAY 45 o, TSI FA, 22(1).
B ARV Y F7PF EiEn Q= B VIS FY HiZ Y 7IHel MESE
249 i XZet deoZ 0|52 et &% MEA 7=0| AlE

e OECDQ| 7|¥7F&Al B M(Entrepreneurship at a Glance)ol| 2 AlK| SH=20| AAS A
#9l= OECD7|E 291 7IEst UX[Tt 75|37 Y 34901 2X T, Y 5Ex}
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¢ JEETE FUS FAWF M2L A JIdS MSE| ol A g s TS0l
M2 & A HEE A ojolciofel XY Swl I £88 240/H, Yoz Hel
et BE0| M2 Lgluss 7|sETE 0| 52 A2 L

3) OECD(2014b)



(a8 3-15) AL ME HWHIIY Fo|

o

(S © 7H(%)

s (4 2} (3 =)
(2.4}

(=.1) (1 3y (4 91 (4 )
IIIIIIl(1?) 15)1.

2001 2002 2003 2004 2005 20068 2007 2008 2002 2010
EX ¢ RNLTR2011), HAHTIYO A0l 2t o HIMHEIRHES SHoR).

o HR XIHO| 27| Hix7 |0 HSHTM M2, *32 20| BRot HIXS0| 42|10 U5

* 200641 O[3 HA{7I2) 47t SSLUXISH TAC Ol AN F7IIY 4 L PO 719 47} BB,

|
2012 AEA0! 719 4= 27HAR D B0~TOMARE APRISHE! 243t Blmsto] 329 10f 3t

¢ R7[ WXl et FAE SQOHA(T HX-FYT (K0l SHE 4 Qs YENATH DRilofor &

(2 3-16) IPO #:(x) & FAE XI(A)

ol i 1AL \ (EH1 - P)

ﬂ 39488
2000 2004 2000 2012
EX 1 H29(2013), '27| A7\ NSEHES ISt THAAE MEOF ML FF KVIC ZE S| HEXZ,

e [POOf X*EH"*OE OIEoH U= Slp7tEE 00| FHIYEO|H, ZAH ARY2 F3iet 88

o MBA AR MAEOZ 23g]7| QA= IPOQF MA 347t 7RO} =g, TIXY ZF| Fl4=elo)
20%01l 21151H 1 S0IM MRA HIBZE 7.4%2 0|A2IC| 97.5%, 0|=2| 68.6%2t H|watod 0

Lo Az|0]

(a8 3-17) EXAYS| &l £E H=

31.4%

68.6%

100%6

80%

60%

=|IPO

40% - M SA

20%

0%

eyl g ol=

* POQF M8A, 20114 7|&
X ¢ st e, WHEXRSEME.

2

2
0
-
4o
o
I
o
B

N

3




////“////// /////
"
11/1/1///1///

B HIX £ MHO| SHXZ0| &Sk 722 FAb 2ol oA

N
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i o et MINEAL 2= 20113 2 J|E 362 EeE MA| MEzs2 1% 0/2ol 226,
4 GDPCHH| HIKEX} HISE 0.12%2 0[A2{A0] 0.66% 0=2] 0.22%0f HIsio] %2 £
& o 2012& WIHEX AX2 1X 23332 ACE 20084 0% K&K 72Jt 7X|i=
5 QIX|TF 2012 AIFEREH ZATHO 2004 0|8 E[KLZ0! 74772 o 21}
1o
o ¢ ZEHHE YHSESA S P9 HIXEE Ho| stz HEAER Stz 9o, TR0
O'l:'u" — ; X = L S|
o TEE 65| SHXS0 3| oEstl Us gF
N
(& 3-10) A= HHEX F0|
T 2006 2007 2008 2009 2010 2011 2012
HIMEX 72 (o o) 7333 9,917 7,247 8,671 10910 12,608 12,333
HEZY 3% (o 2) - 11,279 9,751 14,209 15,899 22,951 7477
SAAA 4 O) 617 615 496 524 560 613 688
EX : PRHQ013) MAHELE Y5t XD ME PETY, KDl HMMOIL BERAN 2ES 93 HuYE waxe,
(% 3-11) FQEXX} HIHMHE Fo g
(9] : of 9)
T = 2008 2009 2010 2011 2012
DEfHE 1828 3,904 1,865 2,648 2,093
=02 - 1,300 800 4,290 600
SUSESM - - 3920 4,000 420
KIF - - 1,800 1,700 -
2] 1828 5,204 8,385 12,638 3113
244 Fitie el 18.7% 36.6% 52.7% 55.3% 41.6%

£ : SRR ES] HIKMEAEENE.

B YY7IH0| Tl 7IXKIE Slrotd MEAE=TCR 0[0iXl= g3 Altk27t 2R
e J|@717H OI0|CIOIE Sl Hatolil atoio] M22 A-a HA2|E FEok= Hxt
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o ol Tt AfSIA QU0 BEsi, 387122 S Jilstol Y 7| 7Idol Ofgt X3



(% 3-12) £2=9| Y Hitet HIE

Time to start Cost to start Paid—in
g%@gg&rg; a business a business . minimum capital.
(number of days) | (% of income per capita) (% of income per capita)
Change over Change over Change over Change over
2010 |Sppd | goi0 |Bepeied | pong | Bt | gorg | degered
(in number) (in number) (in number) (in number)
Australia 2 0 2 0 0.7 -1.2 0 0
Canada 1 —1 5 2 0.4 -0.5 0 0
France 5 0 7 0 0.9 -0.3 0 0
Germany 9 0 15 -9 48 0.1 0 —476
Mature taly 6 -3 6 7 18.5 2.2 10.1 -0.7
markets Japan 8 -3 23 -8 75 =32 0 —-75.3
South Korea 8 -2 14 -3 14.7 —1 0 -308.8
United Kingdom 6 0 13 0 0.7 0 0 0
United States 6 0 6 0 1.4 0.6 0 0
Total 5.7 —1 10.1 —2.8 55 -0.9 1.1 —48
Argentina 14 1 26 —4 14.2 1.7 2.7 -39
Brazil 15 —2 120 -32 7.3 -2.8 0 0
China 14 1 38 -10 45 -9.1 118.3 —828.4 _—
India 12 1 29 42 56.5 -55 188.8 -163.3
Rapid— Indonesia 9 -3 47 -104 22.3 —79.4 53.1 4.2
growth Mexico 6 -3 9 —49 12.3 -3.3 9.2 -4.7
market Russia 9 —1 30 -5 3.6 52 1.9 2.5
Saudi Arabia 4 -9 5 -59 7 —61.5 0 -1,236.9
South Alrica 6 -3 22 -13 6 2.6 0 0
Turkey 6 0 6 0 17.2 -10.2 9.9 —-11 245
Total 9.5 -1.8 332 -31.8 15.09 -17.8 38.39 —101
Total G20 7.7 1.4 22.3 —-18.1 10.6 -9.8 20.7 759
European Union 5.9 -1.5 14.6 -11.8 5.7 -3.3 18.4 —27.3 =
ZX] : Pineli et al.(2011), Entrepreneurs speak out — A call to action for G20 governments, %
(a8 3-18) &0 S0{7}= SXEEHadministrative burdens on start—ups) i
500 W 1598 W 2003 2008 %
4.50 i)
4.00 i
3.50 Jon
3.00 ﬁ
2.50 19
2.00 =
1.50 éﬁ
1.00 al
0.50 ro
0.0 _\fo I R g R N (p b L =T S R R N ) HE
& @%‘%«a‘@ Qﬁé&;&‘f{@o & °°°?;<$f=\°i@b6 ‘\?5'9&4—"‘@0"‘; 22, \010(‘@(2 {\(@qq‘@fv&&&a‘@i&*ié’oﬁ:@@ 5
s F O & O JEN GQP ‘&39 T s &@6 (F)E
< Y Eh s

*

Entrepreneurs confidence is defined as the percentage of respondents viewing their own country has providing the most
favorable environment, new business density is defined as the number of new businesses registered per 1,000 people aged
1564 in a calendar year, World Bank.

Z£X| 1 OECD(2010), High—Growth Enterprises: What Governments Can Do to Make a Difference.
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